BRFERHK-— 100m FEUSEA A LL—R)

(48] (0.1 m)
105]  Zu v EKET-KRI0.51

SNYE R

20 314418fF A gk £ 1 CKIK#£1)10. 68
3[ 61440305 111 75 1k 3 (RAUK-4) 10. 84

40 711158 1 Be & 2 ORPEK-HE)10. 85
5[ 41130512 [ qn %= (Setech-#E))10.89

Fus BAY

5[ 21438840 m Ak 4 ORHA-H5)10. 89
70 1744233 e m 1 GRHK- B30 10. 91

gom U=

[ 8]4414m & gl (REK-BE) RS

[3#A] ( +11 m)
10 5143967 /I 7 3 (KH K- KH)10. 60

20 411782 W 4% # 4 CRABHEA-%75)10.76
A oy

3L 7127744k = Kk f& 2 (MEFEK-HE)10. 81
AL 61ANTH N 4 a2 (GLEOR-#E)10. 82

v Ak

50 21116810 1 A 2 (kP K- HE)11.07
[ 1148915 i s th 2 CEE K- T3) RIS

B=<

Y H g

[ 3122040 m "% k2 CRIER-ILP) Ri%

[ 81277250 W 2 # 2 (MEFKHE) KB
(541 ( -0.4 m)
10 61439118 % iy 3 CKHK-HE£)10.78
20 4111255 5 ""ge k3 (P K- £5)10.97
30 144210 & s sk 1 (CREUK-E1%) 11,08

AL 2] 317k s v s (UNITE-#E)11.12
[ 31408145 53 (CLEOKk-H ) R
[ 514416%F " 4 By 1 (KK T3) Ri5
[ 7117646 5 /1 4 g (BREL-HZ)) RS

FHE A

[ 8]4M120: 2 K phis 2 (REK-FHH) Ri5
[7#2]) ( +0.4 m)

108142418 11" 5 3k 3 (KERE-55)11.05
10 5)4379f & i w8 4 CKHUK- KB 10. 69

EPZEEY A4

20 3] 60% JF " g= 1 (JAWS-5%)10.86
30 214406 F % i K1 3 CREUR- 7 1. 20
A0 1013049 A o (Setech AT 28
[ 4148743 3"~ gt 2 CEEK-BEE) Ri5
[ 612194050 )11 3k g 3 GREER- 1L 1) R 35

FHH 2k

[ 714411\ o =F 2 (REK-BE) RIS
[9#8] (0.0 m)

10 6] 16731 i1 v #e 3 (HAZEA-#E)10. 64
20 AD113047 #k = % 3 CRPEK-E ) 11. 34
[ 10116206 F he i 2 GRIEK- i) R 15
[ 2] 170 55" "m g 3 (BRERA-BE) R
[ 3] 3120 @ fn + (UNITE-HE) R
[ 6] 2201 i vic g 2 CRHER- L) R 35
[ 7134870 1 % B 3 (BIBAH-HT) Ri5
[ 8] 694 & & 33 (IME %E) R

[248] ( +0.8 m)

1[ 4143907 45 g A 3 CKHK-#%9)10. 66

2[ 614415E )5 152 A 1 ORHK- f&ili) 10. 79

303] 178K 5 4 m 3 (HRFHKAHE)10.82

40 21076 £ g )2 (HEK-1LF)10.95

5L 1127765 3 # s+ 2 (HEEK-%E)10.99
[ 5] 697 i s 4m  (JAWS HF) R
[ 7] 687 ki ok (JAWS 5%) R
[ 8144277 F g Ak 1 CREUK- 30 Ri5

(4#8) (  +1.4 m)

10 81510055 fE 8 % 2 G K-#E)10. 71

20 3121994 11 H 1 2 GRUEEKR - §#1) 10. 75

30 2159017 'y A 1 O K-l 10. 76

41 61438541 74 me 4 CKAUK-diiRE) 10. 77
[ 1] 682ifi j 7 st (BEKTF-HE) RiG
[ 5] 21477 dhpr  (BVARHR) RiG
[ 7144205 m 3 s 1 CRAUK- B E) Ri5
[ 411772004 5h'z 4 4 GURIGA-H2)1) S48

(648 (0.7 m)

10 6122105% B w4 1 GREER- 7400 10.73
[ 174981°F & 5 2 (WEEK HF) R
[ 2] 17545 i A 2 (HEEEK-HE) Ri5
[ 3] 1TTRMER s | (BRERA-HE) X1
[ 4121967 ' g2 GRIEK- B K5
[ 512189 3 F 3 3 GRIEK-%E) R
[ 715567 A i 1 CEEK-%F) Ri5

YHT pAF

[ 8] 30148 B #n# (UNITE-%E)Rig
[8%#H] ( -1.4 m)

103] 999 s " s A (ASAP-#%)10.94
2[ 414056fT i — 4 (TEK-HE)11.01
3[ 811631% ) # o+ (STAC-T#)11.04
41 6] 4980 " @ A& (TOYOTC-#E)11.16
5[ 114982/ i kEs 1 (HEEK-HE)11. 35
[ 2] 43160m 41 1 (REE-5E) RiG
[ 5143807 i~y ok 4 CORK-HF) Ri5
[ 7143973 Mm% 3 3 (KK 5 E) ki

(10481 ¢ +0.1 m)

TRy A
\z i=cR
A

1[ 4] 680K 77 i
i1 Gk & - B £)11. 84
2[ 2] 303w th i &
HKYH Uayk

10 514776% 'k g 2 OVRIFME-5E) 11.43
Hs
20 81104011 4%
(G (UNITE-%%)11. 36
3[ 1] 345K % {z#% (MP J-%E)11.54
[ 6] 542%@75%% F 3 (EERA-HE) RiF

FAAL bn (ﬁﬁTFﬁ%)") 93
[ 311140 B g s 3 (ke K- B ) RIS
[ 711030 -5 £ 2 (& - B F) RIS



(11#8] ( +1.0 m)
10 7010275 1 e &2 (WS - ¥ £)11.39

10 6] 543/ WE mh 7 3 (RFBA-HE)10. 94
20 4] B44ig 4 e = 3 CEFREA-HE)11.09
3[ 81566045 4 EM2 HRLEAHE)11. 11
41 5149007 iy gt M2 (RRLEK-H5)11. 14

[ 10148555 1 5 2 CRETA-H5) K35
[ 2] 884% @ = &k (SSAC-HE)XRIE

Y UL

[ 3134345 m o » 1 (e TH) K5
(13%] ( +0.4 m)

FA T Vavkd

10 313428k & w4k 2 (ks TH)11.16
20 7142334 ' 4 w2 (RERG-HE)11.41
102] 277%9F " % # (Bloom%%)10.98
20 5] 1760 2 5% — 1 (WEZEKHE)11.05

LB VTR

3[ 4] 451 5 moAv CRRUER- ) 11. 41

[ 1]44050 1" %3 (KEK-EW) RIS

[ 6] 545 &' "ug =1 3 (R¥pA-BE) KIS

[ 8] 169% 11 E w3 (HHERA HE) RS
[15#8] ( -1.0 m)

1031343241 '/ 5 k2 (HATHE- T 11.25
20 2142445 v okt 3 (RERE HE)11.39
AT =AY

1043511255 11 5 e 1 GRS K- B E) 11. 24
20 113218274 " 4 1 (S EMER-#E)11.29

3[ 7] 441355;,7;44 K2 (RHK-#E)11. 46

40 6]51403 m Ak 1 (HEFER-HT)11.81
[ 5]4101% 1 %2 (CI&K-HE) R
[ 81190903 % w5 (MBC-%%) R

[17#8]) ( +01 m)
10 7142435 /" 5 4 3 (RERE-HE)11.17

20 514254 K B 5 2 (KEHE-HE)11.26
3[ 112648 w5 ks 2 PP #%E)11.35
FHHFDT A b

10212773 % pre s} 2 (MEFR-5E)10. 84
20 811542, FK "3 g (HEKACHE)11.02

3L 6117606 |~ = +  (MaAth-HEIDT1.11
41 4] 3089 50 it (UNITE-%%)11.49

Sy ) avi

[ 3127778 %k " T8E 2 2 (MEFK-BE) RIS
[194H]) ( N fQ.4 m)
103] 68% 5 .0 A1 (Il -&E)11.87

FHIF VA

10 6]3030% % ;i % (WERER-HE)11.52
2[ 4] 656%F w5 % & (BKTF-#E)11.58

30 51165208 4 f “ps  (STAC-TH1.T1

47 2] 7057 4 pg GRORHER #5011, 72
5[ 8] 2754 & i & (Bloom#%)11.81

ISRy

6[ 715088E W M A3 GHEK-HE)11.97
EYER HA2F

[ 1134045 & — 17  (WHvAS =100 Ri5
[2148] ( -0.3 m)

10 61387150 5 f Mt 1 (5LABHHE)11.60
10 4] 8582\ T it (MP J-#%)11.33
2[ 21350608 1 w2 (BIGAHHE)12.09
30 7110397 J¢ 4 w1 1 (s - ¥ £)12.25
20 3] 746/ o GRUREER ) 11,62
30 515207 F T3 k1 (BEEK-HE)11.68

[ 1] 42407 o 7 2 (RE& -5 E) RIB
[ 811701 w5 4 g (OGS -HE)RE

BT auF

[1248] (  +1.6 m)

10 3]38760% 1 B2 g 2 (hLANE-HTE)11.26
20 71424255/ g 1 (KEHE-HE)11.33
10 6] 284 ) 'Bg & (Bloom5%)11.00

AZF T AT

2[ 819000145 A ¢ ) (Eifer-#%)11.05
30 40115658 K 43 i 2 (B K- Se) 11,13
[ 1142485 & i — 3 (REHA HE) RS
[ 2139435 I " fa 8L 3 (EREK-BER) Ri5
[ 5] 3215 & Ty (RFE-#iH) RIS

[1448] ( +0.8 m)

10 8111387 % i 77 3 A K-#E)11.23
2[ 4180365 A 45 @ CERAL-HA)11.24
3[ 61108385 A&k =4 (BER-EH)11.25
41 2] 586/ gE o+ (BREAC-%E)11. 42

Ay~ A A

5L 1110500 7 " v CHEREH HE) 11,47
[ 3] 187# & & & (SSAC-B%E)Kig

[ 5134300 & i e 2 (AR T40) R 45
[ 7139464 & % k3 (FiEK-FER) Ri5
(16#8) (  -0.7 m)
10 11478201 4 ok 2 OVHARE-5%) 11. 68
1[ 4]5564%5 1 o1 3 1 CEEKR-#%E)11.15

I Vaysur

2[ 8119078 1 fi ks (MBC-#%)11.21
30 511157 w] Besh 2 iR -# ) 11. 25
4[ 6158994 A i zr 1 GRIEK-BE)11.26
5[ 2127615 4 'pe e 4 (HEFA-HE)11. 4
[ 3138731 " w5 k2 (HLAMEHE) RIB
[ 70126146 1 26 4 (i-Link-%%) RiB
(1842 ( -0.2 m)
10 613189% A B3 & 2 (FRUKE #E)11. 11
2[ 5142575 1 M 2 (KE#RE %E)11.26
3[ 2)343140 m K fi 2 (ks T4 1. 27
103] 287 (1 g (FHEMER T5)11. 42
20 4] 49701 R & GERBAC-HE)11.49
30 715139% 15" % k1 (MEFEK-#TF)11.58
40 8) 1682 m "z 4 3 (HAFRK-1E)11.88
[ 1142400 " #0 % 1 (RER# HE) R
[20#8] (0.3 m)
10 674260(11 1~ i e 2 (REA-HE) 1. 62
20 113196/ i 5% g1 1 (FILE - #%E)12. 07
3[ 2116841 & 1 (WTAEHE)12.18
10512500 /i 3% 40 (i-Link-#%)11.60
20 711318428" [ e (SPRINTESTEEID11.77
308] 3394 W AL (BERTC#E)11.89
40 4114940 7 w5 & (KEKAC-HE)11.92
[ 3)42475% & — g9 3 (REAE HE) KI5
[2248] (0.2 m)

10 6]3420 51 fu 2 (HILFI- TH)11.39
20 2] 631 At e by 2 (Il B E) 11,55
3071 80k I Tk 2 (I E)11. 69
10 51104852 % # (A 1.R-#%)11.18
20 1] 971w W 4% (BDBYAC-ER)11.92

[ 31127136 3 " {5 % (HHAC-HE) R1§

[ 4] 425585 &£ &2 (KHE % E) )i
[ 8]24747 )i g:  (TFKOBE- L) RIB

FHHT a2



[234H]) ( ”—70.2 m)
10 6]3181% & i 2 (L -HE) 11,34
2[ 6134985 1 i A2 (BIGAEHE)11. 67

SEY~ HA b

3[ 713880 F (i g <} 2 (SLABRE-HE) 11T
47 37425950 M 2= w2 (KEEE 5F)11.82

10 1080774  (TRAINI-fif)11.79

20 8] 556 )0 5 — mp 1 (B¥RA-$E)12. 31
[ 2] 65 ® 2 (Il 8 E) R
[ 4] 4328 m e a1l (KE@E-5E) ]IS

(2548] ¢ 0.1 m)

1[ 31220007 75 = b 2 ()1 & -2 E) 11, 64

TNHT ) TAF

2[ 811446 Ji1 i — 1 (Baliy @5 E) 11, 67
3[ 113198 | w1 (FRLE-HF)11.73
10 51276901 {= ple 3 (MEFKHE)11.25
20 2] 20K s (AEME- 55 E)11.36
3[ 7180807 (i f& — (TRAINI-HK)11.76
A1 61190357 m i (MB C-#E)12.20

BFH Fav~q

[ 4] 558 v 7% s (RESGREN-RER) Rim
[27#8] ( -0.7 m)

VALV

1[ 4]42457% w5 & 51 3 (RE#E-%E)11.52
10 541385 15~ w1 Cr#ok-£E)11.22
2[ 3134351 JF 4% A1 (fivid- TH)11.97
30 11318601 i % & 2 (A #%E)12.00

AT 273

2[ 613180/ )il 45 o (HEBEH-%E)11.58
3[ 2)32455 & g2 (LHK-HF)12.10
[ 7138875 [l k| (BLAKHHE) K
[ 8] 934115 — (Bloom%%)RiB

[2048] (1.0 m)

1[ 2] 4258‘,%‘[11% 52 (RERE-%E)12. 31

2[ 8] 875k ﬂf}ﬁ) ok Oldge -#%E)12. 36
10 6]13778% " 1 4= GEKIE-WEIN11.77

7YY~ 2vs

20 5150865 |1 K 2 (RAEK-HE)11.88
30 1132108 T 4y 1 (FFRALH-#E)12. 71
30 41 735% (1 hh w3 GRURBER- R 12,12
40 3] 314% 7 w s (UNITE-$$)12.22

S

[ 711470 =% 1% & 2 (ly Bf-5F) Ri5
[31#8] ( -1.0 m)

ay ) Ay

10 8142383 wr it &k 1 OKE A HE) 1. 96
20 31319717177 & & 1 (FiRILE - 5E)12. 02

s

3[ 713208 '~ % K 1 (FHRALE-HE)12.07
101) 29908 % gk (UNTTEE)11.52
A0 511031, #k @2 (i - 85 £)12.25

5L 2110484 B g1 (R - #1271
[ 415090k = ¢ | 4 GREK-H ) R

¥o T Ua

[ 6153025 11 " ok 1 (FBAHR) RIS
(33#] (  +0.7 m)
1[ 31540680 1%~ 52 GULE-%%)11.89
20 1161265 1 & kg 2 Gl - #$)11.95

AyY¥x agy
30 2131905 " 4 2 1 (FRALA-HE)12. 01
10 8]234155 & g A1 RERERHE)11.70
2[ 413938% +  4p 4 (BFER-FKIR)11.80
30 6] 6415 95" Ky (HAFACHE)11.89
AL 718918 & — 3 GlEvv PR 12. 63

IHY Y AF

[ 5139597 m 4t & 2 (MK -FEE) RiG

[24%8]) ( B —5)4.#2 m)

10514239 1y s i 1 (RERE HE) 1. 51
20 4142467 /@ 1% w3 (KEKH-HE)11.68
30 3142383 07 45 3 (REAE HE)11.84

41 11540711 1 i i 2 CHUOLR-4)11. 90
107127787 " g 402 (MEFK-HE)11.19

20 8116494 R sty (STAC-F#)12.01
[ 2] 4285 ' 3k 2 (K'E & -5 E) Ri5
[ 612199% b 42 2 (Il - 55 ) R 15

[26%8] (0.0 m)

104131830 31 & A 2 (BRiUk# #%5)11.58

2[ 1142355 '@ momg 1 (KERS HFE)11.73

30 713879K% 11 e Ar 2 (ALAE-HE)11.84

10 5] 632445 gk (7UAKHE)11.59

REZH TIY

2[ 8] 4682’39 @am,’a-% 4+ R~ Al ) 11.97
[ 21344457 &7 7w sL 1 (i - T5E) &35

[ 3] 3446%7&7 fg a1 (e 75 K15

[ 6141085 A "4 3 2 CLEK-#E) )RS
[28#) (  -0.4 m)
1031900027 vz s CROBERS 550 1. 80
20 5] 3655 g ot (MP J-#E)11.84
30 4127704 /W 4 4E 3 (MEFK-5E)12.24
A[ 7112550 m  gE A (i-Link-%%)12.27

Y I)H Ay Ry
YNy Vavy

5[ 8] 213y 65 45 Kk (BloomHE)12.27

DN TR S %

6 6160467 j1 Ky 1 (CLHAK-47F)12.33
70 1158425 B s s 1 REEEA HR) 12,34

SXHE v
;

8[ 2] 683w i o GEfIEAC-%%)12.55
[3048] ( —O.fi m)

10 5142345 "% 111 52 (KEHE-HE)12.02
2[ 8131995 7 47 h 2 (FRALE #E)12. 26
10 6] 353% f6 4t (MP J-%E)11.63
30 21104455 K g % 1 (W & - 15 ) 12. 38
A[ 3]428419: % ml | 1 (REHA-#E)12.57
2[ 4160455 = 45 %=1 (CHK-HE)12.03

[ 1] 4277 " 8 m 2 (KE &% E) %5

VY Fred

[ 7] 76238 5 "% m (OGS -HE)RB

[324H]) ( »/‘—71.5 m)
10 8]144745 8" # 1 (Guly if-5%E) 11,82
20 315408k A = 2 BUWENE-5E)11.88

vVER Vausd
3051220116 01k w2 (R - #5%) 12. 01
41 71425057 T k2 (REHE 5F)12. 14
5[ 1424235 e 5 3 (KEKH-HE)12.18
1[ 4152095 7 " & 1 (BEK-HE)12. 11
2[ 6] 5524 ® 4 (MPJ-#%)12.23

EYAHT ay

[ 2134402 11 s % 1 (i T) &5
[34%8)] (  +1.3 m)

1[ 513203 w5 " g 1 (LA 55 ) 1. 67
20 8] 46644 79 T B3 UMEBHE-HE)11.99
3[ 315405 NI A & 2 GRILE 5TE)12.04
10 6J303155 A 25 s (B EIEH-5E)11.36
2 7]1047% 7 4 (A I.R-%E)11.74

YAy kAT

3[ 4130511 7w oE (BEEf-5E)11.89
AT 1134994 )" =1 (BIIGAE55)12. 74
[ 2] 4354 A& g K1 (RE&E-#E)RI5

AYER LAH



[35#] (  +0.8 m)

10 2031875 11 g w1 FRRLE-HE) 11,93

20 11424070 "B th 3 (KEHA HE)11.98
Y vy

3[ 8] 7357 w5 A A 1 (B -BE)11.99

A[ 71425588 B g2 (RERE HE)12.07
5[ 5131915 i % A 2 (FLFA #%)12.09
6[ 414237 w5 o5 3w 1 (KERE H%E)12.12
10 6] 71611 4 g (HE<vA-5%)11.85

AT /|7_u/

[ 318380 /i # A (UAC-HiK) %kt

(37481 (  +2.7 m)
10615474 ="5 i % 2 (RAERHE 4E)11.67
20 5)34455 5 g A1 (Hkis- T4)11.95

30 1114578 1 A 1 (i i 4E) 12, 23
A7 21104682 J¢ "5 w1 G35 - B E)12.48
5[ 4122084 J " k3w 1 ()l B E)12. 61

LT Vs

60 3142473 1" 9 K 1 (KEHAE HE)12.78
[ 7] 4508 &y gr2 (KEE-HE) RiG
#iom 1 CRLs -5 ) Rig

[ 816134f%
(39%8) (  +2.4 m)
10 6104358 1 " w5 & 1 (BR & - ¥ £)12. 05

20 5134935 11 Tm w1 GRIGAEHE)12. 42
30 1134273 & " w1 (RS- ) 12. 42
A7 3161285 " gE2 ClEdbm-#%E)12.50
5[ 7131887 & p #h 1 (FrRILE #E)12.87
6[ 41369655 g o g 1 (hiarkis- T3)13. 06

L7/ ~iF

10 8] 104> ¥r  1F g (ASAP-%%)13.12
[ 2] 12954 K soth  (BrEERCHE) Ri5
(4148] (  +1.6 m)

ARXF LA

10 3154735 K s 4 2 (MOEERA %) 12. 05
2[ 5154638 i & 7 1 (FORERE5E)12. 14

10 2133250 " # & (S ERER-5E)11.57
7aty ayF

3[ 6]16868 ) £ 7 1 (WTAHE HE)12. 67

40 1134287 " — g1 (IERE-5E)12. 76
50 7] 3209%5;’/;&?; By T 1 (BRI 512 92

6 4]3442)5 % i s 1 (HCAA- T3 13.19
[ 81613345 4 &1 CRdbaE -BE) RS

(43%#8) (  +1.3 m)

1020145658 "I g2 (Bly BE-HE)11.97
20 311449 A" w1 Gbly BA-5E)12. 34
Sy ety

3[ 413440/ # @ 2 (IERME-4%)12. 57

10 619000433 6~ 4 s (Bloom4E)11.95

41 81613577 5 = A 1 (R -#%)13. 21
YR Z <Y

[ 7130028F 7 B ok CHERER-WE) Ri5

[ 5116427 = 7 (STAC TH#):&hElE

(45%8] (0.0 m)

10 7)546805 1 e 4+ 1 (ROLERE 5E)12.47

10 611908 5k 45 (MBC-%E)11.84

20 8] 734111 W g1 (IBRAHHE)13.15

20 519008 = £ 4 z (MBC-#%)12.37
[ 2] 89571*732” g 2 (EBHER -5 %) Ri5

[ 3]3232="Y; w1 (RTVV//AHH) Rig

[ 4114687 F 25 A2 (flliy BE-5E) KI5

(3648) (  -1.8 m)
1[ 51423655 1yt & 1 (REEE HE)11.83
2[ 31612770 " # A 2 GedbdE-#£)12.07

3[ 6131924 W E 1 (kS 5E)12. 14

4[ 4131954 18 "2 g 2 (FRLE-#E)12.15
5[ 115464 % i & ks 1 (OERE47F)12. 20
6 8161367 0 g A 1 Cidbas-#5%)12.50
1077102285 " e g (RS- #A1) 12. 32

449

2[ 2] 862f B = — (HE~-#HE)12.68
[38#] ( +2.3 m)

Ly Zre=

1071102500 jig w2 (ki - 3 ) 12.28
20 113422°% """ w1 (IBEE - 5E) 12, 47

3[ 51221085 A 27 1 (HRJII -4 E) 12. 50
Y~& Jo4n

40 816138111 i Acks L CRALH 4575 13. 40
5L 216132717 gk a1l G B E)14.15
W1 B 5 - 55 ) RIS

[ 3)104530 [
[ 14777 ) g i 2 (MBS 5) R 15

[ 6] 426/ Fk it k2 (K'E & 5E) RIS
[4048] (  +2.1 m)
10 3742390+ 4~ m & 3 (KEHE-%%)11.35

2[ 4754658 p o 1 ROLEEE ) 11,77
YUK gk S N

30 1]3429g%yaqL7§;ﬁj<E51 (I w - # %) 12. 09

A0 5]1681H i g K 2 (WTAHE-HE)12.19

50 7154711 117 4 22 2 (okERE £%)12.30
AAEY A yFay

6[ 216137k 14  — tk 1 CRdbm-85E)12.47
70 61104200 K " e 4 1 (B - B ) 12,72
1[ 8130454 m - pk (S EMEf-%%)12.59

(42481 ( +1.9 m)

10 5142490 1 ff 5 2 (KEHAHE)12.49

20 312209k s mi fa 1 G -2 E)12.73

30 2121930 11 w3 (B - 5 5)13. 20

4[ 811687%) 7 B A 1 (WFHE-HTE)13.38
[ 4] 433% 53 "me k1 (KE -8 ) R
[ 61900057 A o (LEMEGHT) R

BANY A b

[ 716139 /& js (1 1 CRALE B E) kG

[44%8) (.  +1.7 m)

Th Vay

105] 3484 m & (MPJ-5&%)11.55
10 3114521 10" 8 & 1 Gy EE-%%)12. 27

Y<Eh WA

2[ 8134381 A& ek + 1 (FifiE- T4)12.75
2[ 6136201 fi {B k  (HLRATC-LR)12.12
3L 4] BTN e = Giors-A8)12.29
40 7120014 T we (BE/77-%E)12.34

[ 2] 894k s 2 GEBHRE HE) K4



&0 P Al

[—#&)

14

2 4396 7 il
F4= ’%:l&i]

3 1673 it

AALT b

4s 4

P

ﬁ?&f )DEP\T\%

S E !

44390 % & i A3 ORIRK- 2810,
A 1 OUROR-#22)1)10.

544184 A

b M F A%

6 4379(5 = a4 (KK
{E 2 (7 K -
ka1 CRYER -

7 5100 é]g%&;

Fv< N

8 22101 1"

(1#8] (
10 3111254 5
2[ 5] 99:¢ wy
3[ 4] 543 I
41 1140565
5[ 6110764% &
6[ 7] 277% #
70 8127765 4
8[ 2] 2844 R

(3#8] (  +1.1

1[ 314391 85 <%

2[ 415901y =
3[ 2] 178k #&
41 5117827 m

+0. 8

(A L KF) 10.
3 CREK - KB)10.
3 (BRUERE K- BEH)10.

K Br)10.
¥ £)10.
K107

71

m)
B A3 (e K- R ¥)10.
m A (ASAP-H%)10.
f 7 3 CEFRK-%%)10.
— 4 GLHEK-H£)10.
e g (EEKRLE) 1.
wh (Bloom#HE)11.
& 3F2 (MEFR-HE) 1.
Bk (Bloom#HE)11.

m)

3 CRIEK-#%)10.
5 N1 (BkPE K- i) 10.
o3 ERFREAHE)10.
J% & 4 GRRBHER-5%)10.

5[ 7144154y )5 EaZil\l CRIK - i) 10.

6[ 614385 75
70 11411745 )|

8[ 8127741 »

/)\

we
1221055 5
2 439672 1|

By Ao 1 CRPER - 23580 10.
B3 ORI KFR)10.

B 4 CRHOR-JLifEE) 10.
w2 (LR H E£) 10.
& 2 (REFR-HE)10.

66
68
69

51 -0.1
60 +1.1
64 0.0
+0.8
-0.1
+0. 4
+1. 4

3 -0.7

BF— ﬁx 1 0 Om R (448)

10
86
91
93
03
04
05
09

60
10
n
12
15
11
19
80

95 +1.
95 +1.

3 4391/ By ¢
4 441845 K

5 60% ;& 1k (JAWS-HE)10.
6 16751 = 15 #2 3 (BIRFREA-HE)10.
1 4379% = ‘5?4 CR AR - KBr)10.
8 2773 = i 3 2 (MEFEK-HE)10.

3 CRH K- # E)10.
Sk A 1 CRITK #4311 10.

60 +1.
63 +1.
64 +1.
65 +1.
66 +1.

67 +1.

Oj_l._&@_l._&_l—l

BFERKR 100m REEAHA)

(1#8) ¢ +0.1
1[ 511446+ )1
20 1] 80#% )i
3[ 214782fk =
4 8]4246 4 m
5[ 412200p7
6 7]13498% jik
7[ 3]5474= 1
8[ 6]3203 |- m

m)
o — 1 by BE-HE) 11,
Ko 2 Oldis - # )11,
3k 2 (\MmBiE-5E)11.
& m 3 (RERG -HE)11.
1o 2 (Rl -3 E) 11,
B A2 (BIReE-&E)11.
e % 2 (FtEERR-HE)11.
B 1 (bR -5 E) 11,

99
61
65
66
67
n
83
92

(E#&]

JIF vavs

142418 10

334285 )" -t
ERT Y Sd
5 34322@"53“

FAHT b1

6 4254Z§,ﬁ/ L

14257 1

* by /1//\/‘

8 3876 41 i

(2#8]) (
10 3] 603 4t
2[ 412773 2
3[ 6] 1158 &
A1 81130512
5[ 2144233 38
6[ 1] 680k £
70 514403 1y
8[ 714388pt m

(4%8] (.  +1.1
10 2]22105; &
2[ 4143963 )|
3[ 31441845 &
Al 5] 16758 i
50 714379 =
6 6]4390 K 45
7[ 8]51003
81 112199% |1

(2#8]) (
1[0 5]4776% ji%
2 4]4233%¢

3[ 71 63k
4 3]42457% wy
5[ 8131833k 4
6 21387157 &
6[ 1142601 1
8[ 6]4239 %

A k3 CREHE S E) 1.
2 31890 A m 2 (FTULE - ) 11,
g4 2 (st TH)11.
442435 W k3 (KEHRE-WE) 11
B 2 (NiAnsE - T3 11.
B 2 (K'EHE-
-2 (RERE -HE)11.
B 4 2 (5UAEE-HE) 1.

+1.6

+1.6

FE) 11

m)
fi5 1

N g

T

m)

B % 1 CRPER - 40 10.
B 3 (KHEK- KMk)10.
JI10.
% fe 3 (FRFRA-HE)10.
w4 (RAUK - KBR)10.
e A3 (KHEK-£H)10.
e 2 (K- £)10.
M 2 CRPER - #D)10.

VN UNT

m)
s 5 2 OANEmG
4 2 (RERE:
K B2 Ol

BE M1 (SLAER:
#1 ok 2 CREHRE-HE) 11
# 1 (REARR

05
11
16
17
25
.26
26
26

(JAWS -#%)10.
P sb 2 (MEFK-5HE)10.
Be ok 2 (B7E K- #£)10.
(Setech#&I)10.
g | 1 CRECKR - =450 10.
(BERTF - #5)10.
7= Ik 3 (ﬁﬁﬁ’@ﬁ])m
ot 4 OREKR-FEE)10.

BE) 11,
BE)11.
BE)11.
5 L3 (RERE-HE) 11
g k2 FrifdaE-wE)11.
BE)T.

+

+

+

+
e e e e
SON—-O =~ N N

+

64
67
12
14
18
19
19
81

95
95
63
65
66
68
13
86

16
21
317
41
43
46

46
HE) 1.

48



[3%8] ( +1.4 m)
10514242 k41 (REEE-HE)11.17
2[ 81424475 3 &= 3 KERE-HE)11.17
3 6]3181 i  fa w2 (LA -BE)11.27
41 2134294 =m FopE 2 (HifE- T#)11.33
5[ 312648F s 2 A pp 2 (RFMR-HE)11. 34
5L 111027 | 7% &2 (i - 8 £)11.34
T 7142394 g% B k3 (RERHE-%E)11.37
[ 413431y | A 2 (e T Ri5

D AN
ey 3

142419
2 318945 A
33428 k k&
4 34324 m
5 47762 ik
6 4242 F+

Mk 3 (RER&-HE)10.89 +0.
B 2 (FriRdem - 5 E)10. 94 +0.
B A 2 (A T3 11,11 +0.
g i 2 (SR TH) 11,13 +0.
K 8 2 (ANFAE-HE)11.16 +1.

1 CREHEE-HE)T.17 +1.

742445 3 & a3 (REHEE-HE)11.17 +1.4

[4%8] ( +0.5 m)

10 4142418 0 39 1k 3 (REHR-%%)10. 89
20 5131894 A pz & 2 (FTRALE-%%)10. 94
3[ 613428 & w4 2 (fisifim- TH)11. 11
40 7134321 m 4 2 (Ffis- T 11,13
5[ 8142544k # g %2 (KEHE HE)11.17
6[ 214257 0 B —2 (KEHE-HE)11.18
T 314243% m 3 #% 3 (KEHE-%E)11.20
8[ 11387644 jig e 4 2 (ALAHE-%E)11.28

(2%
1[ 5131854 7

8 4254 & #+ B 2 (KEHEE-HE)11.17 +0.5
BREH-—F 400m R (1841)
[1£8]

1[ 2] 33039@:% w1 GRS 10) 57. 65

20 31541101 05 5 22 BUIOKE-HE)57. T1
30 6] 436k & g el (KE®-#%)58.57

Ly Vardk

41 413210 1 4 1 1 (FRdLA -5 1) 58. 85

5 11330308 & 5 2 CRRilEs #:0)1:02. 42

61 5134950 & #r %k 1 (BI#AEHE)1:03.01

70 7161304 jiE 472 CEdbm-#%E)1:03. 34

BEAY LAY

[ 8134421 &

(34
10 413187 11w # 1 (FRIUIER - 4)53. 69
20 1133051 5 6% 'yt iz 1 CRAAIER- 770 55. 45

3[ 5] 435k A& 4 k1 (RKE&-#%%)56.30

A1 61547355 K w2 2 (ORERE %E)57. 39

5[ 214797\ A& i sz 1 (AHARFE-5%)58. 38
6 31546635 % ety 1 (AOLERH %%)59. 30
70 7136965 jiE A g 1 (i A T-2)59. 38

8[ 816143{% j 11 (GRILeE-#%)1:00.28
(181
10 4154655 f 0 s 1 (OHERE%5)53. 58
20 113300510, %~ {2 4 2 GHRAdER- #7)56. 82
3[ 3132097 « g 1 (FRdbE-#E)58. 15
40 7131880 # g ¢ 1 (FRICH-HE)58. 27
5[ 5116827 f§  [=2 (W74 -4%)59.37
6 6)22115C 5 % < 1 ()11 - % £)1:00. 72
[ 2161403 57 ' & A 1 CRits-8E) Ri5
[ 8161427 W = 8 1 Gl & E) )ip

B or 1 (ks T3) k15

W s 2 (FFRLE - %E) 55. 99

20 413190t 1" 47 # 1 (FRALE-HE)56. 18
3[ 11343314 T e 1 (Il BRI 4%)56. 76
40 31547 N7 g 7e 2 (RAEBH-%E)57. 50
50 6135068 11~ w2 (BJIAAH5E)57. 95
60 2] 7356 % 4 1 (IMREA-#E)58. 58
70 7I83T1 6 fs e A (RO #)50. 77

[ 8161317 3 1 4r 2 CRALm -5 E) RiB
s |
10 1134297% 1 5 Ak 1 (Nl -#E) 54, 58
2[ 415474 =" "l 2 2 (EERA %%)55. T1
30 3)614107 | A 1 G- #E)57. 53
A7 513208 1" % K 1 (FrRALE-#E)59. 16
5[ 2] 4507 & w2 (KE -5 E)59. 94
60 71612950 m' o 4 2 Cldbas-#5%)1:00. 71
70 8116835 87 " "# 3 1 (0T A HE) 1:04. 07

[ 6154635 i o 4 | (RLEREHT) Ri5
[648) |
10 5114695 " Mo 2 (fly E&H5E)52. 57
2[ 41343005 B THe ik 2 (IlBFEE -5 %)53.17
306138847 ' 1k 3} 2 (HLABA4E)53.78
40 200905 F " 5 (J TF-#%)1)53. 86
50 8131913 % A 2 (FRILE %E)55.79
6 311040 i HE& 4 1 (k55 - #5 ) 57. 40
70 1134997 5" =1 GRIIRAEHE)1:01. 12

[ 7110345 Py B8 A kp 2 (% 5 - 87 F) Ri5

S



(781
10375478 e 31 2 (RIEN 4£)52. 23

2[ 4139384 v i =4 (EfRK-KI)53. 48
3[ 5154057 Il 4 &2 (BMILEHE)54. 58
41 2114485 55 H a1 (Ely EER5E)55. 11
5[ 8142587 I fw #R 2 CKEHE-#%E)55.19
60 7] 2210&{;}%?; £ 1 ()& -5 ) 56. 60

70 61389655 & 0ok 2 (HLAKE )57, 64
81 1122087 4 & 1 (Fi)Il - #E)58. 51
104131985 i 1 (R 5E)54. 54
7 dk 4m 2 OR'E -5 E)54. 69
30 3) 4324 W g a1 (KE
41 1] 3203 |- uf LB (FriRdLs -5 %) 55. 70
6[ 5)540650 52 (BUILE-HE)57. 63
708131927 " & 1 (FiiCk A -H%)58. 10

o]
2[ 2] 42975
i+ &5 %) 55. 09
vx) ARy
50 6] 546% W J 93 (BERKFHE)6T.17
a

8[ 7]13493% (I = & 1 (BIAE-%E)1:00. 29

[114) |
1071211 | s %3 (MEFK5E)51.98
2 8]5208(1 m % | (BFEK-#%)52.43
30 3122017 11" 7w 2 ()11 - 45 %) 52. 65
4[ 1] 4250 %7 & 72 (KE -5 %)53. 35
5[ 414251 w2 (KEWMA-%E)53. 36
6 2]4245)i1 1 |- =g 1 (KE#E % E)54. 66
[ 5113603 A& 2w (J TF-#AE)) XS
[ 6110304 1 gy £ 2 (B i - ¥ F) XI5

[13%8)

10 4]13498% i "' A 2 (BIAE-%%)51. 34
2[ 8] 75{p ik Hr s 2 (I -5 E)53. 02
30 313484/ 3 G Ar 3 (RIIBARHE)53. 07
41 71350585 11k #r 2 (BIIBAH-HE)53.19
5L 1J1465F #F s 1 2 (fly EFHE4%)53. 50
61 21479647 (1w 7 1 O\ %) 53. 58
70 6] 62% W5 HE v 2 (N5 E)54. 84

vV hEF

[ 5] 552fx wy  ff w1 (RFBRT 5 E) R
(154
1 4111387 3 48 4 3 (K- % %£)50. 88
2[ 5] 3429%%’]&5}_’5 Fog 2 (S 4f- T3E)51. 22

30 7] 2725% # == k  (Bloom#%)51.33
41 2]3189¢qu B &2 (e 5E)52. 68

50 811032)11 4 it K 2 (3K i - 5 ) 54. 07
6 113503/ & Mtk 3 GRIIAAFHH%)56. 37
[ 315207 #+ 5 Ak 1 (BFEK-HE) RIS

YU AT

[ 6113044 )3 = i (Setech #al) RiH

(748

105122003 50 4 =h 2 CREERS-B5)47. 49

20 31116275 F+ he (& 2 GRIGK-JLiE) 49. 38

30 7) 173 i) s 2 (BRERAS )51 24
[ 1148614 55 4 o5 2 CEE K- % F) Ri5
[ 2124745 )" gx  (TFKOBE &) Ri5
[ 411048/ & (A [.R-#E) R
[ 61219571 A& 4 #k 2 GUEKS #30) Ri5

PAHEL AVRY,

[ 8] 1728 & #f 3 (BRERAE 4T Ri5

[848] -

1[ 6] 554[ 3 g1 (EERAEHE)51.80
2[ 5142354 i mR 1 CKEEE-%E)53. 44
30 7) 5533 4 g L (EEEREHE)54. 21

41 4)35047 % A % 2 (RIIRAHE 4E)54. 78
50 311036/ (% m %2 (R - £ F)55. 22

SRy v A

6[ 8] 426/ # M k2 (KEE- B E)55. 95
70 2] 42405 " w7 2 (K& - E)57. 40
80 1110250 1w = 2 (Bk i - £5 ) 1:00. 28
[1048] B

1[ 5160457 = 4 92 1 CCHOK-H£)52.76
20 812340/ % & 4 2 GREREL 5F)55. 10
3[ 4]3507H & e w2 (BIIGAE-5E)55. 82
40 71319701 & A 1 (FrRALE - #%) 55. 92
5[ 211455(11 0 45 A 1 (ElyEE-%%)56. 84
6[ 3]3199&%% 1 th 2 (FRAE-5E)57. 20

70 113500, &5 A 1 CBIIBAH 5E)1:00. 27
[ 6] 3144 " % & (UNITE-%F) RS

[1248])

1[ 4127665 wf 41 % 3 (MEFK-HE)50. 37
20 2127755 F g w2 (HEFK-HE)51.58
30 611026% 1w A 2 (k& - #5 £)52. 99
AT 3147805 & w2 O\EABAS£5E)53.09

5[ 7134350k JF 45 A 1 (A T40)54. 44
[ 1] 353;%{_{@%% o (MP J-BE)Ri5
[ 5141088 & # 2 Cr#k-#E) Ki%

BHNY Vay

[ 8113497 = 4% o (JTF-#EI) RSB

(14481

10 5J4253% 50 + m12 (KEHE HE)51.12
20 41318356 %" & A 2 (FRALE-HE)51. 50
30 703181 vkt w2 (FIULE-4E) 52. 02
41 31318611 Iy i 2 2 (L& -%%)52. 56

25T 2

5[ 813886w JII A #k 1 (5LAHH%%)53. 33
6 113885% ik a1 (SLABE5%)55.09
7021349158 1 % 2 (RIBARH HE)56. 02
[ 612779R M K # 2 (MEEK-HE) RIG
e8]
1[8] 166% 3 ok fF 4 (HREALT1E)49. 26
20 31442845 """ s w1 CKHUK-HA0)50. 05
30 1134324 [ 45 # 2 (hisrin- T38)51.95
41 21394051 (I "4l = 3 (Fif K- HES5)52. 63
[ 4144045 1" o 4 3 ORRK-HE) Ri5
[ 5121985 1  #a = 2 GRMERS Bh) Ri5
[ 6]4408%% P " 4 2 (KHUK- HUR) R 5
[ 7] 174% % 2 (ERERAE B Ri5

(18]
10 3) 14t g m ogs 3 ORTE K- (1) 47.79
2[ 41253575 Ak &5 1 (1K - 45 £)48.35

30 20343150 1" K 2 (2 T4E)49. 33
40 8] 1719 v = # 3 (WEFEAEHE)50. 60
[ 112536 ‘W~ g ({vvnik-FH) Rig
[ 51440106 38 i A 3 CRIUK-HE) &35

[ 615106714 7V =1 1 Gl K-8 E) RiG

[ 7] 301k & s  (UNITE-5%) R



I3
2

Y
>
op

5 o 2 GRPEK:-E%0)47. 49
g R 3 (R TE K - PR 47,79
325357 A Al (B K - Hf £)48.35
4 1663 Sk fiE 4 (HREEAY-FE)49. 26
534314 10 A 2 (fiNzH - T 3E)49. 33
6 11620 Ff e (2 OB -ALifiE) 49. 38
7442875 " sk B 1 OKHK - HUH)50. 05
8 27665 17 4 o 3 (MEFK-#£)50. 37
BFER-—fM 1500m
CE:)

1031170845 & 5 A (J77R2-%H)4:40.
2[12] 546675 % Kk 1 (ROLEES 55)4:48.

IVF vy

S

Vi

N —
— N
— N
S~ O
— o
e

4
A

-~
Nl

31913438 =Yk myk 2 (IEER-5E)4:50.
4715131085 8 fn il (S EMef 5%)4:51.
5[ 615479k, iy R s 2 (REERH-4%)4:52.
60 815470 'y 4 1 (ALEEE-HE)4:52.
70171 739511 g s 1 (NG 5E) 4:56.
85116827 i 72 (WFHE-HE)4:5].
O 7154614 f ' s 1 (RUEEIRFA-55)4:59,

10 (141 318456 v F ke 1 (TR -5 %) 4:59.
¢1:) I
10 1]13723% &, " m s (FEBE-5E)4:21.

NF Fven

20 9] B463 it (EHAC-HE)4:29.

3[1413199k w  mt — 1 (FrRdLm- &%) 4:29.
4115) 55335 & T gr 1 CEERAE-HE)4:30.
51713726% 5t 4% & (LEME-4E)4:31.
61613189/ Fr 1 (FICKA-%E)4:31.
70 4131853 5 g w5 2 (FTUULA - 5E)4:32.
8 611764/ 4w #E  CHUhEd)- #10) 4:34.
9L 8111814y oy pe A CHURIEHS- 5704135,

10018] 992k B & h  (LEHMEH-HE)4:35.
[348] o

10 2) 5547 v g1 1 (RERKEHE)4:16.
20 713181% S 1 (FrCILA-#E)4:19.
3[ 9154765 15 we 2 (LEEE-%E)4:20.
40 113194% 0" s 4o 2 (FILE #E) 4:23.

A+ avtd

51312762/ mp S 4 4 (MEFR 5E)4:23.
6 (191 1049 5 K #af 1 (% & - ¥ ) 4:26.
70 613507/ 7t % 2 CRIIRATHH%)4:28.
8101319225 ' "5 g 2 (FRALE - HE)4:29.
9[11)54775 % fn 20 2 (OLERE HE)4:31.
2 (MEFRHE)L:32.

TERE L

10[16] 2782% H

iR B (448)

96
17
42
2]
06
63
96
22
42
83

51
09
317
o4
33
86
90
31
11
18

96
99
26
24
50
63
82
84
00
15

FHY R T

111015469 " "3 #

12[13] 16834 57 "# s} 1 (WFA7H 4E)5:08,
13[ 9] 5462%1# o 1 (ROEERE-%%)5:09.
[ 11349%4% m w3 1 (BIRGR-5E) Ri5

FANT A

[ 2153749 % & (AHOHKR HE) Ri5
[ 411050 i e g 1 Gk 80 - 5 ) R
(1115480 )i & % 2 (WEEES 5F) R15
1 (REm-HE)Rig

[16] 4375 W
ke £ 2 (G BE) Ri5

I LA

(18134311 |-

117 2110387 5
12 [19] 3421 ;%7}%{%/\» 8
131313500, 1) "

Zina

142013495 11

[ 313190F0 w4 7 2 (kR 45) R 15
[ 5] 430;%;;% Fep 2 (KEE-5E) X5

[ 7] 4297 1 7% 15 2 (RE® -8 E) Rif
[11] 506% w1 20 7 2 (K& & -5 E) R
X e 2 (FriRdLE - 5 ) R35

FA I T xR

[12] 3184k

11 813503/ % /. 10 3 (WIBAE%E)4:33.

NYER TS

12[1712780%s A& B k2 (MEFK-5E)4:33.
J w2 (BIIBAE-5E)4:33.
g 7 1 (s BER 5E) 4:35.

13[ 513504 55 "
141 411450 & w5’
[ 311034% K 56 A im 2 O & - ¥ ) Rig
(12133072 ¥k & (HEEH HE) R
(1412767 il i 5% 3 (HEFK-HE) Ri5
[15] 1645 i # (V24777 45F) RIS
(181479584 B 3¢ 7 2 (\HmBE 5 E) K15

YA auF
(2011033 4~ i A 2 G & - 5 F) &ki%

% 7 1 (FtERE 5%)5:08.

22 (B - B £)4:38.
o 1 (IR & -5 E)4:41.
oA 1 (BIBAR5E)4:49.
T B g 1 GRIAAT-BE)4:52.
15010114541 s 7 47 1 (lly i if45%) 4155,

07
49
53

48
51
84
06
52

14
22
38
88



(4%8]

v, 7=

10 71413111 W " e e | OL#CK-#7%)3:50.42 11141278158 fronss 2 (HEEK5%)4:15.29
8 1% 2 (il EAf-5E)4:15. 94
3[ 51822173k st s a5 (WiARMEW-174)4:07.21 130 8112183k =k pp 3 (KRIE—-#5%)4:18.12

20 915011 7% & 31 HEAR-HE)4:01.73  12[17] 1465 w7

THxEhL Ay FAhn Zuy

Yok AT

411014125010 5 g b 2 GEBOK-B5E)4:09.79  14[13] 546% 'k v 3 (LERAY5E)4:18.19

5 31530457 " e A1 GrEOK-#5E)4:11.82 150161103700 3 e @ 2 O 1 - 5 F)4:18. 98

N FA R AU AT

6 613484, st I /-3 (BIILAR-5E)4:13.82  16[19] 18117 5 fe 45 (SERF-#%)4:21.75

IAYT cra

T[1201036/C (5 /1w 2 (B - ¥ £)4:13.87  17[15] 7587 i ne =z  (llafilefh %%)4:21.97
s 2 ONERBEHE)4:13.95  18[20]3491 5 m ' #% = 2 (BIKAE %) 4:27.96

811147934 il
o[ 2181913 % sk (RAllERS 1K) 4:14. 65 [ 111540k 5 3 A (HEKAC-HE) Rif

STy BrOF sy

10[18]4794 7" i w2 (NHnGR-%%)4:14.70 [ ATH0%% N 46 g 3 ORIE— B E) RIS

INFAS
[ (T mm
NIV, YA

1413111 g B e 1 (LK - 55 1) 3:59. 42
25911 1% g 91 (% E K- E)4:01.73
382215k & ws & (WiAKER;- #iA)4:07. 21

T FE AT

4812510 i g 2 (LK - 55 E)4:09.79
5530451 R k1 (LELK-EE)LI11.82
6 3484 1 i i v 3 GBNIAATEHE)4:13.82
7103670 (2 m w2 (O @& - ¥ $)4:13.87

TANT hEY

8 4793k Il & % 2 AFmBiE-#E)4:13.95

BFER-—f 11 0mHI[1.067m/9. 14m] R (340)

[1#8]) ( _H.5 m) (248 ( +1.0 m)
10 5135060 "1 w2 (RIIEAHHE)16. 34 11 3141280 ks 1 (GLECK-#%)15. 14
2[ 313196 i 5 —-m1 1 (FRALE-HE)17.14 20 51110248 & 7 th 2 (HEK-HE)15.94
[ 213300511~ 4 2 CRAMER-K7) R 45 3[ 4110445 """ 4 (A 1.R-%%)16.00
[ 6]4192) " Gy 4 ) RS 40 7142593 m " 2 i 2 (KEHE-4E)16. 68
[ 7154135 f5 g o 1 GREERHE) R 15 5[ 11419145 & — st G941 KR 17. 25
[ 81330305 " ff s 2 GRUURIER - HU) R35 6 2]22000 & = 4 2 (Il F- 55 %) 17. 56
[ 4154645 5k %ok 1 (OLERS 4 E) g [ 6]1147% 75 4 2 2 (7 k-5 ) Ri5
[ 814246 /% 31 3 (KEHA HE) KB
(3#] (  +2.0 m) Y
TR e e 1 GRS 5 ) 14.,42 o=
1[ 6] 55611‘5\;}%’% B r 1 (fj( i‘wkf)jh:%ﬁ 1 5561{%?;‘1’3{ 1 (Bthi%?E)}é%ﬁz +2
20 213218 = F 4 # (W EMeH-57E)15. 06 5 3918 274 . .
BTN Faypn " " = # & (B EFeth - #£)15. 06 +2.
3[ 3] 4982EE]|:P /FL{(EB]. (iﬂi@ﬁ'iﬂi)]f’ 12 3 49825"HJ MZZU;& ikf%j( i*JI_ 15 12
A[ 4156605 @~ 4 EM2 (RATEL-#7F)15. 47 b RR L (R ) 15,12 42
H HE R %) 15. 44128?}7” Fuy L &
TS K W s EOER L (L2 K -5 E)15.14 +1.
5[ 7] 4905|W ﬁlg %ﬂ &M]‘ (%/‘ﬂi%j{'iﬂi)‘IS 49 5 56603:5’ EAd - (ﬁ*]:%j( kf 15 47 2
60 1142345 "% 71 162 (KEEE-5%)15. 80 B A M2 GUR LR 5 ) 15. 47 +
A B2 (REREBE)TS, 6 49057 45 ML G TR #75) 15. 49 +2
[ 51203355 1 4 A1 (LEK B E) RIS BT, LA AR ) 10 5
Al IR =g =N O
(8151025 o1 GREA RE) RIS TA234 5 35 ) A2 ORE S T5.80 +2
we ! 8 110246 &k #7 th 2 (M5 F K- ¥ £)15.94 +1.
Bk, A0 T P
BFER-—HE 4x100mR R GH)
(1#8]
113155 B 3% . % (5408k8 A 7 52254068 1% 52 5405% il 4 752 5407/ 1 i p 2) 45. 39
2 (670 ¢ [ % 5 (546355 fE o7 7 1-5478= & i #12-5474 =5 Jjt 2 2-5464 1 K15 1)45. 63
3615 At A (612770 5 ki A2 61267 == Krs 2 613606 0 his A 1-6128)c 7 §12)46.29
4 [4]ARARER B (33020 5 1111 5 133008, 75 e Ar 2 051 °F 12 e 42 1330395 2 4x i 1) 46. 80
SL7IV> F° 7 (16860 0 4 v 1 16815 i pe k02 16879 45 j k1 16841 A [5:1)48.12
68155 e # B (61350 1 ¢ A 1613811 fakus 16137 x 77 — ¢k 1 6132 5 1) 52. 98
2] )11 # & & ( ) Ri5

O O OO OO O O



(2#8]

5 /1/7\/7

104]5 C A% 5 3879$ﬁ H  BE 9

AFAT 5

BFER-—f# 4x400mR ;’J&H% (2%8)

(

(
(ke I &l 201rﬁj||+j<%u
A7y &R B (14497 K
(3191l R Al
(6] 2 /1 B(
[8JEEFHRT B(
[(3#A]
10617 AW S( 685K Tk
2 (5]BHFRASE B( 1 76””“ W1
381K B M (42425 ’ﬁ
4017)11 # & 80% Tk e
[2]S S A C(
[3IERFRAT A
(4177 S /R A
[TTEZERRT Al
1] A W S 40. 60
2 MHEZEKY B 42.00
3K B OH & 42.73
450 B G 44.01
511 B 5 4448
6 K & 44. 67
T B 45.32
8 & W 5 6 & 45. 39
[148] -
1[5)ROEERE A (5478= 4 i 22

A
2 [31)11% :é.\ﬁ A
'EJ

A[T]IRE &
5 [6]Fnt[E B &
611V 3 & &
PL2]ig ) E &

81k 2 /M &

[248]

1Byl &

2218y EEX B

SLTMly EmE A
[4]TH L /4 B
(6] SE A A
(6] K
8] £ K
[1]88 % e K%

35041 55
54655

34934:2 i

nﬂ]ﬂﬁ[ﬂww

68% &5
B (14464 1|

146954 iz

o o~~~ o~~~ —

yqF

davv AT

30 1|k 2
5n2
K B2
TLEL
E1
ki) ﬂ&l

7H}/ N

1684&?51;”’"

v~ &A%

TR UL

AI_)j(l

/Li]] oA F

1

yAF

K Hi2

2 3876}75 W Tk
2021k B & 424?;}7,3;”9%%2 4324

N2 388643J e
425ﬂ e '%
2 2200[57 4[5 1 4y 2 22034\ {i e 9\2
Ex /11452

EE ﬁiﬁ\l

fin 114578

169ﬂm Eﬁﬁ3
5142575 1 ’;ﬂ — 242544 Ff

6305 F1 K B2 8Tk W ?ﬂi(l

3492/J\§Tm {EJrl

16865‘34{1 ﬁg?{ql

1447&5 ,% %1

7 V=

(38711 5 4 1) 44. 01

- A28 R 3k 2) 4. 67

22105 A 2 $y1)45. 32

1-1448:f1 55 [ 4521) 46. 83

) R35

) R35

) R35

653 = ) 40. 60

C174ET K 12)42.00

42335 " 4 ¥ 2)42.73

68% B 0> A 1)44.48

) R35

) R35

) R35

) R35
54735 K i 4:2)3:37.28
3498 ki A 2)3: 38 99
5411&3’/@;”4 2)3:41.03
-3500/18 1115 A 1)3:43.34
5466{1%%%”5{22(@31)3 49. 11
16815 1 1 A 2)3:54. 46
349511 1 b R 1) 4:02. 47

) R35
875k i ¥ A 1)3:39.05
1448&3”;@ 21)3:43. 40
114657 w7 2 % 2) 3:47. 66

) R35

) R35

) R35

) R35

) R35



s

T AOEEE & A 3:37.28
2 mkEm A 3:38.99
31 (241 = 3:39.05
47 W s 3:41.03
5 kG m B 3:43.34
6 iy L& B 3:43.40
T Rl y EE A 3:47.66
8 FOLEE:® B 3:49.1

1
BFa®R-—ik E5B RE

1015130780 7/ it —  (HEWER HE)
2[14] 27647 ff e i 3 (MEFKHE)
316148563 [ #t A 3 CTEK-HE)

AL 31439211 # i k3 CORK-51 %)
5[ 7] 4515 i e s (BATC-%E)

6171424351 7" e 721 (KERE-HE)

70221 5133)i 1 " p 1 (MESA-HE)

8 211478/ 55 e CFRTFF-&H)
821120014 i we (BEJI7HE)
10[11] 20945 & Ak (FHEREH- T8

11 414783 =41 4 2 (ABHBE-HE)

12 5] 2211 K5 % e 1 ()11 - 56 E)

13[1314244 1 e e 1 (RERE BE)
vy VA

140181478677 & & e 1 O\ERBE 5F)

2m17
2m00
2m00
2m00
1m90
1m90
1m80
1m75
1m75
1m75
1m65
1m65
1m65
1m50

[ 1151345 65 me 7 (MEFABE)EREHL

Br¥< Ve b
/

(121344152 11 e A1 (fSd- T235) B8k L

BAHH 2y ) Ry

[ 6140845 1 5.2 4 3 (GLEK -5 %) Ri5
[ 8143810 ik~ Br o7 4 KUK AR R
[ 9] 42811 f e k2 (KEH-HE) RIS
(10134257 1 "Bt A1 (IS 5E) &5
[19]34367% &k 1 (Fi 0~ T3E) Ri5

FH Vav

[20] 3481 my # (MP ] -HE)RI5

BFam-—ik EMRBE R

10 414898% &' " w4 (EEK-#%E)

vHEF wien

2[38] 308y 50w  (UNITE-HE)

3[40] 649707 /& 55 (NEXTS-HR)

A[4315571 4 m = # 1 CEEKX-%E)

5[ 1]4426 K {5 K% 1 (KEK-#E)
>

641] 33011%1%”% 4 2 GRS 300
7[34]142564= ~ & W52 (KEHE HE)

Rz

8[32] 5861 ik = 3 (HAHACHE)
9O[11] 5483% m & & 3 (WHRAEHA)

10[22] 78% #F % b 2 Ol 5%E)
110 21530547 /@ | o 1 GL#K-HE)
12[47] 2993’\:’%*% (UNITE-#E)
13(13] 8510 i~ fa Ak 1 (BFBEATFHE)
14[20] 148048 4 fz gs  (FATFF-H0)
15[17]308 K fg 3@ & 2 CRAURRIER H)

Favhy ~vy
FTHI TAF

16 (2714239 w7 4 pw 1 (REHE -HE)
170 7147850 11 Ho 1 OARFIBE 5 E)
18[35) 22475 i fs 4 (ADLER-%E)
19(50] 4246} A 4 # L (KEHA-HE)

20[1812203 1 1= [ 4 2 (i)l - E)

N

l_"_\_

o4

7m09
6m91
6m83
6m80
6m69
6m61
6mo54
6m51
6m40
6m33
6m28
6m28
6m27
6m27
6m22
6m19
6m15
6m02
6m01
6m01

-0.
+1.
+1.
+1.
+1.
+1.

+0.

~NoOoO o T J O wCowoo~ANMNOITOHO = — ©

REH

NER 6m16 -0.5



21391 1851% m
22[12] 278375 "

23[42] 4232 15 552 (KERE-HE) 5m7b
24[46] 433457 Tmt k1 (KEHE -HE) 51
253313188 ¢ "= g 2 (L& %) 5mb8
26[29] 552% W 4 (MP ]-#7%E) 5m58

)0 Vavkd

27[14] 427m b % m 2 (KEE-BE) 5mb7

s (SSAC-HE) 5m86
Hagoits 2 (HEFKHE) 5m79

284511031/ $k 2 (R - Hf E) 5mb5
29[48] 31824/ #& A 2 (FWLE-%E) 5m51

30[31] 728k sz A2 (A %E) 5ma9
AF /AT Yrpay

3121133045 /1l w1 GRS 5%) 5m40
32[37] 3492, 57 111 =5 1 (RIIBAE 4E) 5m34
33[10]1 2209k & 5% fix 1 (KR! -#5E) 5m24

Y/ H buak

34[24]23424 m 4 o2 1 (REEEKHE) 5m20

35361330205 il " g5 1 GRUAMMER 57 5mO5
36 515468)5 (11 b 4k 1 (MEERE-SHE) 5mO1
37(1513497% i s 1 (BIRAE-HE) 5mO0

B=< ZAH

38[3014850% 5 i 2 CIEEAA-HE) 4m99

39[ 3]3304765 A b 1 GRURBRMER H5) 4m99

400 9183735 I % gy (HHOAHHE) 4m8]
41028116868 1 g 75 1 (WT'HE-HE) 4mT6

UEFA R

+2.
-0.
+0.

+1.

+1.

+0.

(16]423135 50 2 4 2 (KEHE-WE)E&HEL

NG A Kk

[1974237)50 w7 35 ik 1 (RERGE-HE) GG L

[ 6]43878 [ 5 8 4 (CKHK-H) RIS

TAF avAg

[ 8] 309 A 2 w2 GREREK A RIS
[23]4981% 4 £ 2 (BEEK-BE) KIS
[25]2177)¢ 1 4 w4 GREER%- 2R Rig
(26133255 (1 # 11 (HEEH 5%) RIS
(447 14687k £ 2% A 2 (ly BERCHE) K15
[49] 550 % 4 " g 3 (RERAEHE) RiG
(51134875 &% 5 3 (BIGAHEHE) RiG

—_— — - oL

BFam-—ik =Bk RE

FA BT AL

10241486375 k5 2 CEEK-£5E)15m09
BA <R

2[ 8131654 ¢ % #f 1 (FARIEA 5 E)14m08
3[ 3] 548 K 4 3 (EHBARHA) 13m72

FEEI S

411511902% 7 ® (MBC-%%)13m63
50121 55100 % 18 & 1 (2%kks 5%) 13m46

(=N
60 4] 581% 1 @ 4 (Eiler #E)13m35
7019] 586 g & (Eifer%)13m31
8[30] 4513 fE 47 .  (HKTC-HE)13m27

9[2816046% 11 " g 1 CCEOK-HiE)13m24

LI A Ry

10[18]1364m o B {2 (- £)12m85
112312203/ pe A 2 (RRJI & - 45 E) 12m73
120 5] 8% 5 w32 (& % E) 12m71
130 71477955 &7 #m A 2 (AHRBE-4E) 12m56
14[17] 452(11 /@ — g (FEKTC-%E)12m49

15[25] 42527 j1 " /x4 2 (KEHEHE) 12m42
16[2611908/9 i 4 (MB C-%E)12ml1
17016] 3188 11 1€ & 5 2 (FrRALA - 5 E) 12m04
18[ 61318235 1 & A 2 (FiitE-%%) 11m91
1901315478 = %" e 9 2 (ObEEE-%E) 11m73

Bov~ BAH

2014148597 o "k i 2 CHERA5E)11m33
2001113497751 s 1 (BIIAE %) 11m07

FHA HAF

+0

[ 115467k # K 7 1 (tEEE ) So8xA L

3
8
4
5
4
2
3
6
6
9
.8
9/ ER 4m23 +1.1
6
6
8
.0
Ji
4
5
.2
1

NER14mT13 +1.7
n

YER13m46 +0.9

3
5
1
5
0
0
3
2
2
C3NER12m82 +1.1
C18E812mb9 +1.6
2
4
Ji
1
6
6
1
.6
.0
N



[ 913492185 1) g 5 1 (RIIBAR HE) SR8k% L
[10]32455% 47~ 2 CU¥k -5 ) EE8R%E L
[27] 350545 (1 Tk % 2 (BII@AH HE) R4 L
[ 2140927 1 # ~ g 3 GIEK-HE) %5
[20] 1476% 5~ 45 &  (FATFF D) Ri5
[21] 6507 A4 i sk | (RERAEHE) K1
[22] 14985 B o GRRbEH 50 Ri5
[20] 649707 /K 75 (NEXTS-H3) Ri5

BF—ik fARIx[7. 260kg] RE;

TX/ N

TL6J191 g8y pra (MBC-%i%)13mb1
2[ 41307585 A — m 3 (EKLT-H) 9mI0

3[ 5] BA9SJE T g s 2 (RERAF-HE) 9ma3
Yy vk

A0 3] 67811 H He kKt (OGS -HE) 8mdT

5L 1) 547{p i = % 3 (BEFAYHE) 8m21
6L 2] 1875 1% 5 = (AEvaj-1KE) 6m97

NTIR ayF

[ 7] 592J5 Kk # & (OGS -HiE)RIS

BFam fahix[6.000kg] RE;

ARXF v

10 5138905 K w2 (LUATE-5HE)11m74
20 1147811 " 4+ p 2 O\EABE %) 10m16

3[ 8138887 [ 3¢ty 1 (hLANE %E) b4
A0 2110415 F e 1 (R - 5 ) 8mT3

5[ 3122020 B 52 (WJII&- % E) 8m38
61 614834 W 45 A 1 (HERA HE) 8m05
10 71478400 1K i 7 1 (ABRBH-HE) Tm22
[ 41168555 % o ik 1 (OWF40 5% R
[ 913508 1 %2 (BIBARHE) RiG
(1013443 (8 S 1 (FiSif- T3) ”i%
BF—it AEEF[2. 000kg] RA%

101) 984 & Ty (Eifer#¥)3mb2  KRH
20 711911557 & ¥ (MB C-%%)3m73 REH

ay< baF

3[ 215691/ 1 #t w1 (E[EK-%E)36m88 K&
41101186228 5 A+ (MP J -5 %) 34m41 K&
5[ 5123390 ¢ i ok 2 (REEER HE) 34m21 K&
60 8] 3655 4t (MP J-%E)33m94
70 6] 5475 5o 3 (¥R AYE) 27Tm66
8[ 31307585 A - m 3 (JEk L. HH)26m85
9[ 9] 549%5{#” WE sF 2 CEFRRY 5E) 24m12

[ 4160797 S T A1 GEK L) RIB
BF¥aEtk AR’ 750kg] R

FHHY Ay

10912193+ Jii ) % 3 (I - 5 ) 38m1 1 KEH
20 513883% #r  Ja 2 (hLABEEE)33m3T K&
x4 I kn

3[ 313888y w3 il (HLAHEHE)2ImIT
AL 412202(5 " e s 2 GBI - 35 ) 25m32

5[ 1148537 1 hr m 1 (KA HE)24m90

ARXF

6[ 71389045 & a2 (5LAGE5E) 24mb5
70 81483475 e A5 A1 (FEHRA-%E)21m65
80 613725% """ wz sL 0 (FEME &E)20m74

7 AR YN

9[ 2135083 51 32 (BIRAEHE)20m46

BFaER-—ak OU[800g] R
1010] 5824 " sz (Eiler-HE)68m28  KRH
20 2] 208 A Il it 4 CFEBEK-5E)54n38

3[ 6]31494 7 A (HEMER-%E)54m03



TVHH Ay

40 713883% & A2 (ALAERE-5E)50mI4
5(19] 3k £+ kv (A8 JE- B E)50m27
6141238855 A 5 h 2 (WK #%)1) 49m50

708) 8lf s i 202 (I8 - 45 E)46m57

811131957 1 2 #92 (FFRILE % E)45m02
9[ 315562 J5 4 A1 CE[EK-%E)40m87

10[17]2768 ) 5 % & 3 (MEFK-HE)40m02

110 1] 581% i @ 4 (Eifer %%)38m49

12[16]12205F A~ s A 2 ()11 @& - % %) 37m20
Y~4 v

13022] 6781 1 H # (OGS -%E)35m63

141181485375 jiE 4z 4 1 (FERA-#E)35m39

AL e

15[13]27855% 1 == g 3 (%K HE) 30m11
16 (16147783 |7 it 2 CAANA-5E) 29m48
170 9116857 %" 3k 1 (WT*4E 5 E) 26m73

[ 4] 48753gﬁ:%j§ w2 CEEKR-5%E) RIB

[ 5] 407653333 f%‘jtﬁﬂ 3 CLHK -HE)Ri5
(121343955 " & 1 (- T3) &5

(201388971 Py fr 0o 1 (5LAHH-E) XI5

(2115563 #F £ &1 CEEX-%E) RIS

BFX24d 1 00m FiE (2640)

(48] ¢ +0.9 m)
1[0 41123405 27 e 3 GRS - 5E) 1. 84
20 5] 2099¢ 3t 3 (BRf-HE)12.07

30 3] 247273 g k3 (FEE-H5E)12. 23
40 7] 329K e b3 (HESHHE)12.24
5[ 6145467 (1 k3 (HEET-HE)12. 31
6 8] 13031;;%:%&; Mo 2 (BRFT-$E)12.55

TU 1121245 i ws 2 (RER-T5%)12. 59
8[ 2] 2597 7 Bt A 2 (LRET-HE)13.14

(3] ( +1.1 m)
10 5102408 7 sk 3 CRPEET-HE)11. 42
20 4] 223y5ta = ok 3 (RREHH-5%)11.94
3 3] 3090k 4 4 # 3 (RJIHT-HE)12.37
A7 2] 5837 1 he w2 (B)IinET5E) 12, 44
5[ 7145575 I gk 4L 3 (GWHP-5E)12.48
60 1] 4907 1 "k @i 1 (LEET-#E)12.75

/) A

[ 6] 2605 wF i & 3 (LRET 5HF) R
[ 8] 2654k i 4 3 (LRAET 5% RiE

==

(5#8] (  +1.9 m)

10 5] 7514 & a4 3 (AhOZT-%E)11. 63
2[ 6] 22675 fE 1% 4 3 GRS H-45£)11.97
30 3] 3054 m " a4 sk 3 (R)IFT-#E)12. 26
40 7112280 kK w3 (REEEH-5E)12. 27
5[ 8116045 A& s A 2 (FRET-%E)12.39
6 2110405 & “za g 2 CRAEETHE)12. 41
70 41 2428 5 — 393 CHEH-H-%%)12. 67

b

8[ 11 3067y A o 2 (HEEE—-h-5%)12. 71

(2#8] ¢ +1.7 m)
10 474560111 fig i Ao 3 (FERT-5HE)11.82

2[ 6] 309%5# g op 3 (IR -5E) 12,02
30 7113104 1" =% 45 2 (EEHET-%5%)12.45

41 8] 2565 g o 2 (LR -HE)12.49
50 211015, k8 " 57 wR 2 (FRH-BE)12. 71

yIE Iy

6[ 3] 311k # k3 (W)IHFT-5HE)12.72

7011108657 i1 %z 2 (REH-#75)12.82
[ 5] 1514 M 4 w1 3 (FES-C-HE) RIE

(48] (0.5 m)

105] 2118 1 3 (Beh-#E)11.65

20 4] 228711 8" hm — 3 (HEE - HBE)11.78
A,

30 611001 % W ® 2 (LRF-#E)12.16

40 71122735 50 e e 2 (FES -4 5E)12. 42

SEL AU

5[ 8] 420py 7 sy 2 ()11 -5 %) 12. 44
61 3] 3015 J 5 th 2 (EES—T5%)12. 47

ST AN

70 1] 5823t ke 3} 2 (RJIM#-5E)12. 57
8[ 2] 761w a2 (FREATH-5%)12.80

(6481 ( +0.3 m)

104112330 & — 42 3 (Rl _f-5%) 1. 51

20 5] 210 ff " —3 (Bt HE)11.78
vV 7 THE

3[ 3] 23688 i w3 2 (LRMT4E) 11,80
AL 6] 24305 W #i B3 (BEE-F-5E)11.99

5[ 8] 4146 4f iy gk 2 CRJIv-#5%)12. 05

AHT 2L

60 7113087 )il # A2 (RERT-51£)12.43
70 111224004 " 220 4- 2 (Bl d5%)12. 85

xR HA b

8[ 2] 5834 v g =2 (WP -5%£)13.10



(7#8]1 (  -1.2 m)
106] 31375 £ 2t jig 3 (WJIP-5%)12.79
20 3] 3410 F T 2 GIFEETHE)12.99
3[ 41456470 1 B 2 (5HFEP-HE)13.09
40 5] 3210 A& g ik 1 (RRJNEP-$55)13.16
50 8] 5157 (/' fe ff 1 (B - %) 13.23
6[ 2] 45250 v4 “mp e (FRmET-HE) 1341
7011120145 s g 2 (BB ZH-5%5)13. 52

[ 71131435 B m 2 2 (LR -5T) Ri5

(98] ( 0.1 m)

10 6] 260 B =2 GRPEET-HE)12.69
2[ 51455074 w7 g 23 (SHET-5E)12. 94
3[ 4] 2733 " 2 (LRAET-#%)13.00
AL 31124058 M " w1 (FEEH5E)13.10
50 7145627 11 Hett A 2 (5HET-4E)13.13
60 21263417~ 4 b 2 (AT B E)13. 21
7010 5895 " kw2 (B #E)13.77

[ 8] 637 e sy 1 (EEATH-5E) RIS
(1148] (  +0.4 m)

=¥/ 2UH

10 4] 244w 57 o1 3 (REF_-5%E)12.15
20 5] 5858 g o nt 2 (RIS 55E) 12. 69
3[ 3126435 m o w2 (A E)12. 94
AT 81202403 i 4 2 CHPEED£E)13. 05
50 6] 302 E ki £ 3 (RIIED-#E)13.08
6[ 2] 327 5 31 (s 551310
70 1112055 a7y 2 (HEEZH-5E)13.19
80 7] 286 B wi /- 1 (LERT-#E)13. 28

[13#8) (  +0.1 m)

106113181011 1y = 2 (LRAEM-%%E)13.18
20 5] 2063 W #9 ok 1 (LEFiT%E)13.18
30 4] 5913 A #m & 2 (WWErF -5 E) 13,37
A0 1] M6 g a2 (W15 E) 13,58
5[ 7] 47000 1% am pe 2 (LRMT-5E)13.73
60 3] 666 m f w1 (FEAED#E)13.79

FHY LFT

10 2] 257/ if R =2 (REFET-%%)14.07
8[ 8] 175014 1E58m 2 (FES-C#%)14.28

[1548) ¢ -0.1 m)

105) 5958 m' e 9 1 (IIIHT-5E)12. 94
20 4112164 32 "2 % 2 (WEBHE-T47%)13.03
3[ 8] 520%F 1y & & 1 (BEth-#£)13.07
AL 2] 33T\ N e s 1 (Hipes—h5E) 13. 49
5 6] 584 ¢ me k£ 2 (Hillliek-5£)13. 49
60 7] 9313 A 41 (Bloom%)13.80
703] 775 stk 2 (RRATH-H%E)13.88
8[ 1] 694 w % 21 (LEATH-5E)14.07

(17#8] ¢ +1.7 m)

10 8] 58745 "he s 1 (BN -55%) 13. 26
2[ 3] 4083 (I e g 1 ()1 d- 25 E)13. 36
30 41120348 & dy k2 CEE_H-HE)13.37
AL 5113114 " sk &2 (RRAT-#%E)13. 39

50 611002°E % “'s # 2 (REF-#£)13.82
60 7] 479 & me a1 (LEF-HE)14.04
7011 2175 m " e w1 (BES-C-#%)14. 25

81 2112397 % T 2 1 (FEF-H5E)14. 34

X

(8481 (1.1 m)
10 5] 3034 4 2 ¢ 3 (R -#%)12. 62

20 6] 2723 ¥ & A 2 (LRET-%E)12.90

2YNRYY R

30 1] 929z 4k & 1 (Bloom#%%)12.93

41 811204 % =2 CHEA-H4%)13.01
5[ 714563, i a4 2 (GERF-HE)13.04

BTF NVET

60 2] 202/m 1wy a2 1 (LERAT-%E)13. 24
7031 519)i1 0 g 45 1 (BT - E) 14. 08

[ 4] 306 % ff ya 311 3 (WIS -5 E) Ri5
[10%H]) ( +0.8 m)

10611018 i 2 #k 2 (RRH-#%)12.75

10 61454954 K "l & 3 (5B EP-5E)12.75

30 314522 3¢ el (HHET-HE)12.95

==

40 4110195 N1 H A 2 (BRS-#HE)13. 11
5[ 1110044 7~ 42 (LRH-5E)13.51
6 212023 |5, =2 GFEED-HE)13.72
[ 7] 62% i el (REAFHHE) R
[ 8110127 W~ #t2 (RRT-%E) RiE
[1248] (  +0.3 m)

104112147 B w7 3 (A AHE) 12. 38
2[ 511208%: 4 "5 4 2 (HEE-H-5F)12. 72
(A4S FAE Py

3[ 6] 211k | EKHE 3 (FEE—H£5%)12. 96
47 3710261 /% <7 @ 1 (ERJ-#%E)13.05
afy Bhax

5[ 1] 357/ & = (LEXAESHE)13.29

60 2116987 A 7% 1 (LRl 5%)13.36

70 8) 2417 /" st =4 2 (LEJHH-5E) 13, 81
(7] 314877 %= 2 ()IHT-5E) )%

[14#8) ( +0.7 m)

105] 61% % 1 (LEAFEH#E)13.07

2[ 4] 225m4<7$ + 3 (FRFfiT-%%)13. 25

3[ 3] 5324 + gy k2 (REAAT-5E)13.52
A7 8] 53040 & pk 1 (B -#57%)13.56

5[ 1] 413K % & 22 ()il #%)13.92
[ 2] 453%52& % (FRARS5E) RIS

[ 611856y & 4 K 1 (NP5 %) Ri5
[ 711014% 7 " m 2 (LR -5 F) K15

(1648 (  +1.6 m)

10 5] 4920 jE s Ja 1 (REMT-%7E)13. 48
20 4] 3164 i s 2 (f)IEF-5%%E)13. 50

YII4 Ay

3[ 3]26354% J+ v k2 (HIEF-5E)13.56
A[ 6112070 & e 2 (HEE H-%7%)13. 86

5[ 2] 35845 & g (LRAARTHE)14.12
[ 1] 4573 L T A (RRABTHE) R 55

[ 7] 201%77!3% g A 1 (ERRT-%E) Ri5
[ 8]112664f m B # 1 (LEMER-%F) Ri5

[18%8] ( +0.6  m)

10 5] 31015k /e 47t 3 (KR 5%) 13. 53
20 41 246%)7 [1¥u 77 3 (HEH T 4%)13.55
3 31452800 ¥ e 1 (HEHT-E)13.56
A0 1] 482, v 4t #o 1 (LERT-#%)13. 80
50 7] 745 @ 7 ok 2 (LEATS5E)14.02
60 2110212 K 3 m 2 (RRF-%E)14.03

TAX B s

70 8] 280% & Z k2 (Bloom5E)14.31
[ 6] 2077 %5 "t a7 1 (FRETH5E) K15



[1948] ( +2.2 m)
1[ 6] 596/ 5F % m{ 1 C(RIMHT4E)13. 60
20 5] 419 I g o 2 GBI H-EE) 13,79
30 7] 324% e oF 1 (NAEE-%E)14.01
AL 4] 3155 M ok = 2 ()IEH- %) 14. 51
5[ 8] 48314 ik w1 (LRMT -%E)14. 93
6 2] 3304k ~ A& 1 (s —-5%)15.37
[ 1] 2034~ Kk mr 1 (LREGHT-5E) R
[ 3] 5538 W 48 43 (TRVF7-5%) R

(21#8] (  -1.2 m)

101] 45871 5 R g (FREME-5E) 14,37

20 5] 4663k 3 wE k  (FRAET-HE) 14.45

3[ 6] 3567 A b4 (LEXGHES-SE)14. 64

A1 8122015 mTre py 1 (HEEH4E)15. 51

5[ 2] 2383 ‘% 53 CHEH_T%E)16.98
[ 311221 °%F "4 A 2 (REH-H-5%E) Ri5
[ 4] 65 % up a1 (LEKTH4E) Rif
[ 7] 24508 % w3 (WEF_D-%T) RIS

[2348) (  +0.1 m)
10 1] 2203 4 # K 3 (HEE-h-5%)11. 64
2[ 51263931 ¢ 392 (RiET-#%)14.01
30 6] 3055 g 1 (LEMR-HE)14.26
40 8] 3075 w5 # 7e 1 (LESH-%E)14. 66
5[ 2] 32%% Hekw 2 GFREHE)15. 11
6 4) 4212 " m 22 (W)IP-£E)15.16
[ 3) 4816 & 48 A 1 (LEEHT-HE) R
[ 7] 4865 4% fn 1 (RRET-5E) R
(25#88] (  +0.6 m)
10 2] 48471 G Lap 1 (LRAD-5%E)14. 27
20 41 303/ 5 A A 1 (LEAR-5E)14.45
3081 TH B 2 (LEKTHHE)14. 67
A[ 611237(H A& 5 21 GREE-T-5%)16. 21
5L 70101146 & 42 (LR -5iE)16.46
60 51123475 855 e A 1 CREH-A-HE)18. 01
7011 487017 W 4p 1 (LEFET-5E) 18,11

[ 3] 4918 /g b 1 (FEMET-BE) RIS

R (2%H)

(1#2] (  +1.5 m)

1[0 51123452y R 3 CHIEF - 5E)11. 68
2[ 4145601 #2 % k3 (BEFRT-HE)11.69
3[ 8] 309 + f& 33 (REF P %E)11.78
AL 7] 243 m #7 a3 (WEET-45%)11. 89
50 2] M4k #+ w2 (WIH-HE)11.90
6 1] 2093 s o 3 (BRP-#%£)11.98
70 6] 24475 w5 5 w9 3 (RS _H-5%)12. 02
8[ 3] 22675 e 1% k5 3 (FEE _#-5%)12.07

Ive=a

[204] ( +0.8 m)

ByE T

S

o >t

\)

1[ 112633% & " w12 (A #E)13.45
3[ 4] 339 77 & b 1 (s 5 E) 14. 27
5[ 3J10174% 7 i
8 e A 1 (BT -5E) 15. 29
[ 5] 1306@7;\4{41\ T k2 (EREF-HE) Ri5
10 6112495 m 7 w39 1 (S -h-15%) 14. 04
3[ 8] 1236?99}5% e L RIEECTE) 14. 89
5[ 711857 11 B % 1 (IEES-%E)15. 77
TFYE IAX
[ 4] 552 & e A 3 (TR/774%%) Ri5
b~ av~a
106112475 5 " % A 1 (FIEAEA-HE)14.16
2[ 3]2021f% % 4L £4 3 CRFEETHE)14. 36

20 6] 33645 1 & A1 (WiEEH—h%%)13. 69
A1 71453575 Ff B g 1 (GEAHE) 14,91
AT e 2 (FRT-BE)15.19
6[ 2] 590%% BB
[ 8] B94%+ 1 4| A 1 GRIIAT -5 %) Ri5
[22%8]) ( -1.4 m)

20 1] 456#@}7{/% a7 FRERET%E) 14. 40
41 3)262651 75 gL 5z 1 (HiEh-5E)14.99
[ 2116882 )y s ir 1 ([R5 ) R 35
[ 5] 4855 (I #t ¥ 1 (LR -BHE) KRG

[24#8] ( +1.8 m)
3011 715780 e w2 (HEOZTE5E)14.75
FI oy

40 4] 306 =% Thms | (RERS-#5)14.78
5[ 7] 20445 &t up 1 (LEEAH-%%)15. 00
6[ 2] 4115 W Ee2 CWJIld-#%E)15.27
[ 6] 4015 5 4 i 1 (H0)IIH -5 5) R 5
[ 812202485t i 3b 1 (HEE %) KI5
[2648] ( +1.2 m)

VAH Bhen

10 51124555 " " K 1 (G - H-5%) 13, 67
20 2] 488%5 & "m Ak 1 (LRET-#%%)13.75
3[ 1] 31048 Az g 1 (MEEH—T5%)13.89
A1 7] 4020 4 e A1 (I B E) 14,15
5[ 4] 403{% W k1 (G#)Ith-HE)14.60

6[ 8] 72755{:,41 35 2 (RRATH-%%)14. 88

70 6] 281 m s A 1 (LEFAT-%E)15.07

[ 3112508% 5t A 1 (HES-H-5F) RIS

[2#48] ( +1.6 m)
10 411024 & 5 3 GiFEED-5E) 122
20 3] 2205 &g & K 3 (HEE_#-HE)11.47
3[ 6] 7514 & Hh &3 (HHOET HE)11.51
40 7] 211w w3 (BE&P-5E)11.60
5[0 11 2364 i e 2 2 (RRFST-%E)11. 62
6[ 2] 210ep #F B —3 (BRF-HE)11.62
70 8] 2281 v — 3 (HEHE_HF-%E)11.65
[ 51123375 &k — 03 (HEF_P-5E) K&



k3 GirEE ) L2 1
B A3 CHIEE d-HE)11.47 +1.
o 3 (HHEOZP-BE)11.51 +1.

B3 (B2 - £ E)11.60 +1.
me Fx 2 (BRFEMH-HE)11.62 +1.
B3 (B -5E)11.62 +1.
B 3 CREH _H-5E)11.65 +1.
8 123452 R 3 (HIEFE _rh-#E)11.68 +1.

210
7 228)1) s

68
BFchZ4d 40 0m R (8

:01. 02
:02. 32
:04.15
:05. 58
:06. 03
:07. 47

(1%8]

10 611208% &' 4 2 BB H-4E) 1

20 21131810 N1 1 2 2 (LRET-5E)

30 5112120 5k 4 pE 2 (BEE %) 1

40 70 59710 A B K 1 (I -SHE) 1

503112045 B 222 (HEE-HHE)T

61 411219 '\ 5 {2 (FEE H5E)1

(311

10 2] 206 & s 3 A 1 (LREfH-5E)1:00. 64

20 a112112 5 s v 2 CHEZ-h5%)1:05. 11

30 7] 18 fE v sp 2 (RRATH4E)1:05. 54

AL 311217/ #F =12 (g 44%)1:06. 83

5[ 61120358 & 1 Ak 2 (WEH-T-5%)1:07.59

60 8] 323Ji F i A 1 GRJIFH-5E)1:17.58
[ 5] 4065 m 7y 2 1 (Rl h -5 ) RIS

[(548] -

10 2113036+ s sk 2 (REFT-5E)59. 22

20 6] 420007 i £ 2 Gio)II e+ 25 %) 1:00. 51

3[ 51 316(= ks 2 (BJIFP-5E)1:06. 48

4[ 3112091% k= w2 (WEH-T-%%)1:10.40

50 8] 3224 Mk Bk 1 (FIFH-%E)1:15.33

60 4] 314, 5 =2 (RIEF-5E)1:24. 02

70 7) 3158 m sk w2 (RS -#%)1:30. 28

[7'%H] YFY~ Vavs
106] 2091l Tk & 3 GAEETHE) 3t

20 3] 247=7% e & 3 G555, 21
30 5] 24475 w5 " s 43 3 CHIEH_H-5E)57. 60
4[ 4] /i‘/faf? s
S A # A 3 (RN -#E)59. 91
6 2] 3034 k2 (3 (Hi)IIH-HE)1:00. 30
7( 1]1200%;;%\” = 2 (FiEg-h-5%)1:01.58
vF¥< Vavy
2 247 = g A3 GRS o 5E)55. 21
7 15 3 )1 BT B ) 56. 41
4455737 il 33 (‘FEFHUT - £515)56. 47
6 2447 5 45 w3 (KB - %%)57. 60
7 2728 F i k2 (ERPET-HE)58. 11
B 1 (W - 15 ) 58. 28

B

&

244 i

272 1 k2 (BREMF-#%%E)58. 11
5[ 7]

30314

[ 8] 243 m  #i 3 3 (HES f-5F) RiE

1 20T Tk ks iR E) 3
3 3127
5 309K K 4 #k 3 ()£ E)56. 77

8 5203 1

SO oo oo O

5
)

o) I
10 2]1307/8 78 " ik 5 2 (LRHET-#%E)59. 68
2[ 511224)CK "2+ 2 GHIEE-H%5%)1:01. 31

[ 311206% f6 & A 2 (HES-f-5F) RIS

[ 41121840 11 & & 2 (BEE-H-4E) RiG

[ 6] 319711 1 g J8 2 (R 5 E) R

[ 7112267 &5 2 v 2 (HES-H5F) RIS
[4%8]
106112273 30 g K 2 (REE H-5%)58. 99
2[ 2] 866/ & Bt {= 2 (IS 5E)1:01.05
3[ 5112055 i iy 2 (FAES #H-5%)1:03.78
40 4] 394 @ =1 (RRF-HE)1:07.19
508 475 " a1 (FRP-#E)1:07.87
60 3] 754 4 ww A 2 (LRATH-5%)1:18.75

[ 7112255765 "4 % 2 (HESE-H-5F) RIS
(648]
1[ 5] 4557321’}1(“’?

2[ 4] 2064 ¢

PR A==

e 3 (SR8 56. 47
o 15 3 (BIEE-H4%)58. 51

3[ 311250/ m g 3 (HEE_P-4E)58. 57

A1 8112220 8 "5 4 2 GRS 45%)1:00. 36

50 7112485 & " “irs B 3 (HIEE - H-5%)1:00. 84

6 2] 302°% ji g £ 3 (W)IFR-%£)1:04.13
[ 11221506 He A 2 (REEZH-45) RS
[ 6] 208% 7 g 2 3 (FEE-T-5T) R
[84]
1[ 3]
2[ 5]
3[ 1]
41 7]
5[ 2] 3017 s
6 8] 31375 4f 2t i 3 (FJIIHT-HE)1:02.04
[ 41123455 2 e e 3 GRIEH - 55E) R i

[ 6] 41015 71 15 7€ 3 (W1 h - 5 ) KR35

YA by %

3124 i v g 3 (IR -55E) 56. 41

*47 b

309K #f % & 3 (f)IIET-%E)56. 77

5205 i v % L (il 45 %) 58. 28

3058 M ok sk 3 (IR -5 %) 59. 21
2w &3 (RIETRE)1:00. 50



BFth=4d 1 500m £ GH)

GE":) I

10 4] 342% iz iy s 3 (WS- HE)5
20 7] 340% B a3 (AP HE)S
3(17126240% % pel (AHEH-%%E)5
41 5) 3435k % 3 (MEEH-THE)5:
5[ 3126285 A % 7z 1 (AR B E)5:

EIYH A7 b

6[ 1] 304¢ £

8[ 2126273 m 1 (HiET-HE)6:
O[ 81124311 1= g0 1 (B h5E)6:
[24H]) o

1[ 6] 3081 @ 0 (s 5E)5

20 1] 5333 m " 2 f&x 2 (FRAAHHE)5:

L) vav b

3[ 5] 416 i 4k % 2 (M) -5 £)5:
e va 1 I B ) 5
WA 1 (ERF-5E)5:
w1 GREE-THE)5:
70 411238011 % g A 1 (BEH _HHE) 5!

AXE K vt

41 3] 40542 K
58] 45t
6[ 9112324 m

& YA

BNy 2L

8[1114533 5 16 15 1k 1 (BHHP-E)D

9[12] 3354 m #7221 (WiEF—THT)5
€2:) I

10 5] 25240 %' s 5 2 (LW HE)5:
20 4] 338% v 1 (WES—H5E)5:

TAY

3[ 314521755 (I
4115] 313 "

EE A

70121 25735117 g =2 (FEFES-#E)5:
FA Ry A

81 7] 23275 jiE %

TAF TR

) -
1017 2500 7

20 4126321 )i

3L 21217 K =2 GRERH-4E)5

40 7] 391 ' m1 (LRT-HE)S
AL 4 N b

5[10] 2814 M\ A 1 (FRES-5%E)D

6012] 353 m k& — 1 GUFEET-HE)5:
70151 2552 " & 92 (RREFET-#E)5:

AT

8L 8112417 ik
914145527 1~

[5%H]) .
1[ 211307/ ge"

T XL VUK

30 1112007

FHLT Aoy

A1 7145730 f+ %

TR FAF

FY =2y VarvRy

6 (16112224 7% 44 2 (FEgE_h5%)4:

TEYY vavs

70 6] 8715 1
8131186634 I
O[ 9] 2347 4

A AL (RiEs—T %) 5:
7010 3333 4 pe 1 (WA 55)6:

i 1 (BERE)5:
’ e 3 (BEF—hHE)5:
5016] 3232 m i th 3 (WES—H45E)5:
6[ 214536/ i w2 1 (BBHT-HE)5:

2 (LRl 5E)5:
9 8] 253%& K e w2 (LRET -#E)5:

Btk 2 (LEET-5E)4:
mojg 2 (Rl -5E)4:

ME 3 1 CREE P 5E)5:
e ok k3 (BERT-HE)5:

B R 2 (LR -BE)4:
2[ 4] 25848 m = k2 (LEET-%E)4:
E 2 (FEE 554
B2 (BHEP-5E)4:
5[12]4520)\ & Kk % 3 (HER$-5HE)4:

R k2 (lERE-5E)4:
1 (U5 E) 4
B2 (EREAR-5E)4:

:04.
:08.
:08.
13.
56.
57.
12.
13.
21.

:08.
12.
23.
24.
26.
29.
39.
:40.
:49.

11.
11.
12.
15.
19.
20.
22.
24.
25.

52.
58.
:04.
:05.
:09.
10.
12.
12.
14.

45.
50.
50.
52.
93.
53.
57.
57.
57.

07
17
58
66
43
11
26
08
07

41
91
12
41
17
42
85
44
10

85
97
12
2]
39
24
15
19
48

18
14
02
14
51
98
01
81
03

85
39
41
99
11
18
16
52
53

100 9] 32871
11[13)1231% 1l
12[11] 12335 Hu %
13[14]1246 5 /5

HET_ ZAH

7T

15[15] 262951 4
[ 6] 401%1%?@ w1 ()l B E) RiG

[16] 1859 & 4 i 1 (AT %E) K15

10[ 2] 525°F "
11[10] 1688 )i
Ty AUF

120 7] 5235 ¥

Ny JAUH

130171 505 & b A 1 (LT -5E)6:06.
1401614539 A&~ 47 1 (GBHHH-5E)6:08.
15013112094 4k " 2 3= 2 (HEE-H-5E)6:12.
[14] 554 11" 8 % 3 (TR/ 77 -%%) Ri5
[15] 302f% 56 B s 1 (LRHEM-HE) )5

10[10]4534 K2
12[ 6] 2033
130 91 419
14[13] 754 S
[ 1] 45403 =0 (FRA-HE) RS
[14]1225% 5 "4 ¢ 2 (B -0 57F) R1B

(171452955 3 = 7 1 (GHHP-5E) RIS

VIR #U3

100 3] 5923 A&  #m wg 1 (I F-5%%)5:15.
" 0 (BT EE)5: 16,

1101311219 w1’

*hY_ TRy

120 9112114 ks 4 2 (BER -F-55)5:17.
13[1111610f i~ &% ¢ 2 (A -%E)5:19.

Xay FA437

14[ 5113174

150 6] 784 5 7y o2 (LRATH-HE)5:20.
160161 251 @~ 1 %2 (FEFET-#%)5:26.

¥V AN

[17] 455k wr o) &t (ARG -5%) Ri5

10[ 3] 584/ @'
11010] 2435 7%
[ 5] 31jd & 3 & 3 (145 RiG
[ 8] 344 v f o 3 (WA 15T XI5

(11121847 11 i & 2 (RS0 47F) i
[14] 23355 s s 1 (HES- CHF) RIB
[15] 3%k JE L4 3 (LRI -HE) ki

[17] 756 0% " & A 1 (HHOZT 5F) K15

T k1 ST RE)6:21.
W 1 (R 5E) 61 38.
HIE geEe 1 (BEE-T5E)6:47.
gz 1 (FEH-45F) 6:50.
14012] 3297 %~ % & 1 (MEEE—H-5%E) 6:54.
fix 1 (HiErp-555)7:42.

i g5 1 (RSP - 55 1) 5:61.
g 1 (REE - 5E)5:57.
5 4 1 (B - 55 1) 6:05.

o1 (BERT-5%)5:29.
11011] 5933, 111 #L /a0 1 CRJImig - 5%) 5 38.
S #1 (LRFfT-5%)5:39.
K P 2 ()| -2 E)5:52.
"o A2 (LEATR-EE)5:58.

1A w2 (EREP-%E)5:19.

2 i 2 (B -5 ) 4:58.
ve 2 (LRJRiT-5%)5:08.

82
45
15
43
67
94

317
98
19
22
2]
92

31
23
63
1
44

24
50
94
18
84
03
02

44
28



(6+A]

vE ery

AR s

10 1012508 “f g3 (BES-9-5%)4:22.06  10[16] 31645 & 83 (W55 4F)4:40. 96
2[ 8] 34144 % o3 (WEE—m5%)4:24.00 1101311629/ 11 & & 2 (Bamd-%%)4:41.85
30 3] 2034 w5 = s 3 (BHR-HE)4:24.47 12012012485 & i 15 3 (WAHH-5E)4:48. 54
A0 5] 204,00 % s 3 (Bad-5£)4:28.22  13[18] 10Kk & "% 3 3 (LRT-#E)4:53. 61
5[ 6] 2154:2’5’3 T gy 2 (BRT-HE)4:30.17  14[17] 2064 4 fqa i 3 GRS - h5%)4:57.08
6[10] 495/ f mi or 1 (LEET-%E)4:33. 82 [ 2] 201 lgj}lll“y% +3 (Bam-%E) RIS
70 91 202" §E 1 (Bad-#E)4:34.69 [11]11206°% 5 8 4 2 (FEE-H-5E) RIS
8 4] 34574 m " 4= w3 (LREF-$%)4:35.70 (14112267 & = 3 2 (HEH-H-5E) RiB
O[ 7] 3127 fE o #5 3 (R -#E)4:40. 76 [15] 22001 1 Hth 3 (LRE#HT-5E) Ri%
e
i 3
1125000 /1 w3 (EEE - d5E)4:22.06
2 341 %’gﬁ’ ;g 7e 3 (fREEF—- % %) 4:24. 00
3 203wy =m 53 (B4R HiE)4:24.47
4 20441?;}%;;;43( -1 E)4:28.22
5 2158 W g my2 (Bgep-#E)4:30.17
6 495K f w71 (LRERT-E)4:33.82
720205 W m 1 (Barh-HEE)4:34.69
8 34501 " g Hp 3 (LM% F)4:35.70
%?EP%_&._ 11 0mHI[0.914m/9. 14m] R (248)
[148) ¢ +0.8 m) [248) (  +1.5 m)
1061169878 4 g 1 (LEMER 4E) 1324 1[0 5] 2203 & # K 3 Cig—i4E) 1480
20 412023 g 2 GRFEETHE) 1598 20 614560/ it "t A 3 (HEHEB-HE) 1802
3[ 5145661 5 5 A 2 (BHHT-5E) %2 3[ 31454900 % he o 3 (BEHFD-HE) 16,09
Al 2] 4822@@” =1 (LRET-5TE)21.86 A 7] 2267;*;;5”4& 3 (FEE-h5E) 16,36
50 8] 597111 A& "B & 1 (R)IMs-5E) 24. 33 5L 41 281 w2 GiFEETHE) [&e8
[ 7012015 g 2 (RIEE9-55) A 6 811244k w5 " Bk A3 (Bg s 5E) 14,90
[ 3] 485% | gt o 1 (LRET-5E) K5 7020 200 f e ks 3 () Gl
N AN
'\:L\IZI
1 200585 % k3 S 5E) 1480 +1.5
2 4560 m’ﬁg T k3 (BB Eh-prE) 1602 +1.5
3454975 i o3 CPEPAUR ) 1605 +1.5
4 2267 BE T w3 (HEFE —-5E) 16,36 +1.5
5 280 E T ap p2 GPAET-E) 1828 +1.5
6 124450 w7 "Bx A3 CHIEE i iﬁrf)}&%"o +1.5
7 211 e 3 (g b E) 181 145
8169815 A m 1 (LRl &E) %24 108
BFah4dE 4x100mR R (3HA)
[1#H]
T4 M8 b A 589% " & g2 59195 A& A2 581j<Eé$ ‘B2 583% 7 i 2+2)51.20
203]1 J& B (495K "B L 490/ I K i L 482 v g TL1 47000 ks v 2) 51 54
LB I o ( 5874 ke s 1 B95G [ e g1 596/ Ry =1 588 IS gk % 1)52.11
4L61M5 W B( 530255‘7;.\” el 51900 "l dg 1 5157100 4@ 4RI 10 5203F 1y & 5 1) 52. 86
[71H H D 2 $1( ) X5
[248) o
104] b J& SRS (13026 |1 o 4213087 )11 45 A2 1303k ¢ st a2 13104 i i #52)48. 17
2061 - & 10185 T 1 2 1015 j& " 57 w2 10465 28 1[ iz 2100150 iy 55 2 2) 48. 20
30704k I AOTH T ke 1 ATARRE g 2 416 i gogx2 420007 s 2) 49. 19
AT B ( 3135 f 7 3 3012 W5 # A3 302EH# /13 3104175 #rs3) 50. 30
5[2] b B A ( 63({;@”% w1 6 A 2 eﬂé”% sl 625 #u1)50.33
[6] b B 76 fi( 2733 3 sr2 256427 4 sh2- 2728 F M K2 25904 BE k2) K#&



(3#A)
1IB)AAEH i A 228)1) g5 i =3 2200 4 k3 24305 1 A B3 12335 K - 423)44.85
2[4) GEFHUF A (454675 (1| k3 4547 JE 4£3 45534 50 ”r% 3 4560(1 H2 & 4 3)45. 05

7.

(
( L 5 5
3[31%&@2””%3 B( 22675 i 1 43 1234/r/;/|jq WS 247 = pe k3 24476 wF 4m 19 3) 45. 94
(
(
(

hF~ LA

\

GBI P E (34 A g2 1024 R fE A3 250k B E2 214910 £3)47.10
5[711%}!!3@43 A( 35 A B A3 3058 1 5 43 309%%%% 303{5‘”@#*” 53)47. 88
6[2] 5HFH P B (454904 4 He o 3- 455045 w7 3% 21345575 )1 kb 3£3-4566, 52 = A 2)48.99
0 AN

e 3

1B A 44. 85

2 58 R H A 45. 05

SHEE B 45. 94

43 7oA = H 47.10

SR F A 47.88

6 - B & 48.17

7L B W 48 20

8 5B H T B 8. 99

BF¥aE4g %.—JEJE iR 5
1015145565 5 4 4 3 (GEHEA-%E) m77

AR re e

20 6112284~ gg& K i3 (FEE_m-%E) 1m72
3[13] 208% i “mm fe 3 (HEZ-HHE) 1m69
4112] 5225;2 w01 (BT E) 1m63
5[ 1] 3012 w5 4 A 3 () HE) 1m6O
60101123375 & — & 3 (HEE-H5E) 1m60
7021 2425 2 (FREHR-5E) 1m55
8[14] 490}%”}’”’“9( i 1 (LR#T-%HE) 1mdb

Yo sq s

o[ 3] 5884k s 7 = 1 (WIMAT-HE) 1md0
10[ 4145655 e s 2 (BHHF-HE) 1m0

ArH A

11[ 8] 456 g = (FiRmBT-%%) 1m0
[ 5] 3189;‘%{*% %2 (BIRT-5E) RIS
[ 7012485 5F s 1 (HEH %) )%

}’7!9 Ay Ry

[ 912626t 2 ALl (B -5 E) Ri5
[11] 3434 %" m g 3 (FRES5E) KIS

BFHFE ERBE R

//ﬁ v FAY

10311465352 % 1% b 3 (5HEM-HE) 5m93 +1.
2[51] 285k A ¢ wk 1 (LEWES-%E) 5m66 —0.
3[41] 7514 gy g 3 (BAMOKHE) 5m59 +0.

X vavy

4T40] 80508 3 K" sy k2 (PRI HE) Sm52 +1.
5[32] 1302%L A # 2 (RRAEM-%E) 5ma2 +0.

6[46] 1031%?;’ H B sk 3 (BPEERE) 5m39 -1

7030] 2281 fw“”{a — 3 (B W 5E) 5m39 +0.
8[26]2608[i m ¢ 3 (A% E) 5m38 +0.
90391 MAKFf B2 G)Ild-HE) 5m24 -0.
10[15] 40787 11" ek i 1 (BRI ep-£5E) 5m06 +1.
11[13] 242@}?@“ g 3 (HEH-H-5E) 5m05 0.

xEh Sy

12[21] 3210 A g 3k 1 (RJIEF-#HE) 5m02 -O0.
13[12]11216%% 78" 52 ¥ 2 (BEE-H-5%%) 4m99 0.

14 4] 5954 11" we w1 (IS 5E) 4m9T +0,
15[48] 246%1 7 F1¥L 71 3 (FlES - 45E) 4m95 +0.
160 8] 22(1 " k2 GRFEETHE) 4n91 +0.
17[34] 4550 5 g5 £ 3 (BHHH-4E) 4m89 +0.

\"7“% U4

18[4311012% 15~ f 2 (LRH-HE) 4m86 +1.
190241 492475 5 B 1 (EEMET-5E) 4m86 +0.

YA by ¥

20[10]12145% j& w2 7 3 (WEF_T-%%) 4m80 -0.

CIT—= NN B NOOHOTOOWONMOCWO N —



210 2] 242"/ w2 (LRREAP5E)
22[37] 2133 %~ 2 (RRET-HE)
23[52] 5914 = @ + 1 (REIIngs - E)
240 1] 2021 11 ke 221 (BREEATSE)

25[29] 34644 75~ #il w3 (LRFF-5E)

26 [22] 310%5%%‘ g 3 (IEF-HE)
27045112664 @ B 7 1 (LRl %)

28 (20 10248 [ @ pie 3 CRFHET HE)
29[27] M3K B g pr 2 ()l BE)

FAT 2TRY

30[19] 270K 5~ Hh Jr 2 (EREH -5E)
3133 596,157 wef= 1 (Il 55)
32[14] 458T . E & (FRAKPHE)

33[3811857% 1 % 1 (BT -5 E)
34[49] 2045 & Tt 1 (RRRATHE)
3550112070 & e 2 (HE m4F)

36[23] 528% 7% [ 2 gr 1 (W5 )

3703611242/ FK e A 1 (HEHE - 5F)
yuyy g

3817126244 7 pe 1 (HEEH-HE)
30[47]26273 i g 1 (R -HE)
4035180505 F1] J+ %t (= 1 (FESREH-5E)

vVELK VT

41[4412628} A # 71 (HET-HE)
420 711304 % A& g 2 (FRES-BE)
43[ 5126293, A& 1 (HEP-HE)

< )F 2y
A=A

4m73
4m71
4m68
4m64
4m62
4mb2
4m41
4m26
4m21
4m15
4m13
4m09
4m08
3m80
3m7/8
3m76
3m64
3m60
3m58
3m48
2m75
2m39
2m34

[ 311026 & 7 1 (LEH-HE) R

ERAY vavH

[ 6]10195% 1| 1 K2 (LR -5F) RIS

Ry Ry

[ 9] 929 ff

g 1 (Bloom %) Ri5

[11] 306 % 4+ 42 113 (IS -5E) Ri5

Ny ZAH

[16] 318/1 4k k 2 (F)IAT-5E) R
[18] 2077 % 4 a7 1 (LREfT-5T) K15

YT et

[25] 18567 & 4, 15 Ak 1 (BT 5E) Ri5

T4 Lrday

(28] 41255 s g 2 (RiJI - 6 ) R35
[42] 47000 1 " ve 2 (LEMT-8T) KI5

BFrhas FaALi%[5. 000ke] SR

FANT 3'77/

1[13] 45591 ek e 3 (SHRT-#HE)

2017 7537 & 3 (AHORTHTE)
30 6145467 (I fx k3 (FHHT-HE)

40 4] 2385 w5 3 (MER-T5E)

50 1] 1302%5"53"* s @ 2 (ERET-5E)
6L 5) 124441 5 " 2 A 3 G- 55)
709) 245fs w5 ® 3 (FER -4

8 3] 32254k Bk 1 (T HE)
9[11]1310% w45 2 (RRAN-HE)
10018] 323Ji{ F+ “fis A L GJIEH-5%E)

1L 7110815 A4 s 4 2 (RRH -5 E)
120 8] 31971 1 g /& 2 (IR 5E)

AYEYY

o+
P

Im/1
9m09
8m99
8md7
Tm93
Tmb8
Tmb2
Tm42
6m62
6m55
6m07
5m89

[ 21103775 1 & & 3 CRPFAET-HE) Ri5
[12] 551/L W g 313 (TR/77-%%) Ri%

#ho_Tren

[14] 556¢x i i 2 (TRV 77 -5E) Ri5
[15] 234k 3t Bk pk 2 CHFEETHE) Ri5

NAY

[16] 278 11" & w2 (RFHETHE) RiB
[19] 5550 f6 & s 1 (TRZ77-%%) RiB

+ +

=+

+
SECEERCRS

|
©

WO oo ooIoOoh~hrdI—0O0OO—= —=WWOHh— 00O — WO

+1.

AER 4m32 -1.4



BF/NEE 100m FEGHRAALL—X)

(148 ¢ 0.4 m)
10 611000145 56 'p A 6 (FEV2=7 %E)14. 31

2[ 711001575 B s A5 (EEV2=7-5F)14. 94
LxEL Vavs

3[ 311001454 4 Rk (FRY2=7%%)15. 21
A0 4110013 5 ¢ s 5 (LRY2=7 5%)15. 63
e A 6 (FRV2z7 5%)15. 87

5[ 2110003 % J
[ 51100087% 1| 5= K 6 (LRV2=74F) RiB
[ 8130026/ [ 4% A 6 (LbZIfL 8E) KIS

[3%8] ( +1.3 m)

10 51100042 7~ 26 (FEV2=7%%)13.81

20 3110012% 117" K 6 (FEVa2=7-5%)14.45

30 6110006% & " & A 6 (FEV2=7-%%)14. 51

A[ 711000736 2 fk 00 6 (EEV2=7HE)14. 68

50 41100095 %" 6 (FEV2=7-5%)14. 82

6 811006k #F i K 5 (HEva=7%)15.78
70 21371004, 53T e 5 (W 5%)16. 07
(5#8] (  +1.1

m)
EEFY 7oA

1[ 5]10031 & f sr 4 (FEY227-%%)14.75

20 6130019 4+ #m A 5 (LbIEE #%)16. 21

30 413001757 % " m 5 (LbZ e #7%)16. 58

4[ 210065 5k iy 4 (ERV2=7 5%)16.88

41 3110023 i 75 42 5 (LEVa=7 %) 16. 88

60 7110021 )11 "5 4 5 (FEV=2=75%)17. 22
BLT oyl

70 8110039 1 AF ~ #& k4 (LEV2=7-%%)17.83

iR
( m)

-0.2
EyX~ /L

11 31100042 44
2[ 511001045 m "

A TH% Vb

3[ 4110001 %y s

#%6 (FEV2274%)13. 89
Gt E 6 (FEV2=7 5%)14.19
B A6 (LEV2z7-5%)14.29

4[ 711000655 A 4% A6 (LEV2=7-5%)14. 64
5[ 6110012% 1L & K 6 (LEV2=757%)14. 69

60 1130041807 F 55 226 (LbZIFL-5E)14. 77

70 21100023 £ K Fu 6 (LRV2=T-5E)14.77
81 811000775 2 f > 6 (FEV2=7%%)14. 91

BF/INEE 80 0m R
10 171000177 5"
2 2110009 %% %
3[ 4130039 = 47
A1 913001757 7 %
5[ 71300311 "
6107 30019 {1

TIA 2L

w6 (LEVa=75%%)2:

B e (LbZide#5%)2:

q

o O O O

5 A6 (LEV2275%)2:24. 80
34. 67
w6 (LbhZliL 5%)2:38.02
A 5 (LbhZIfL #%E)2:46. 82
: 54. 94
B m A5 (LbIIEE4%)2:58. 62

701315000255 = i A6 (TCA-¥¥E)2:59.95
8[ 515001175 £+ 4 tk4 (T C A-%E)3:02. 96
901113700572 i~ 4% B 4 CHEiER-#4E)3:09. 07
100121500128~~~ — #t4 (TCA-#%)3:35.14

FHS sy

[ 3150001 & & A s 6 (T CA-%E) R
[ 615001045 s # w4 (T CA-HE) RIS
i g 6 (FETHER-5E) KRS

7oty IFxe

[ 8]37003 & 2

(248] ( +0.5

10 51100104

2[ 3]30041pp T

m)

3t B 6 (FRVaz7-5E)14. 14
0 g 72 6 (LbZIEe %) 14. 69

30 71100025 S K fn 6 (FRV2=7-5F)14.75
A1 61100223% 71 s &5 (HEVa=7-%E)14. 83
5[ 41300310 f" " % £ 6 (LbZIFE 5E)15.65
¥ g6 (LbZiFe %%)15. 83

‘i e 5 (FRY2=75%)16. 30

6 8130024 1"
KA 2t

70 21100285

(48] ( 0.0 m)
10 51100270 ks 5 (LRV=2=7%%)16.19

AU g

2 311003045 & E p 4 (LEV2=7-5%)16.30
3[ 4110024 pk m E kw5 (FEV2=745%)16. 43
40 711003799 @' 3 e 4 (LRV==75%)16. 68
g4 (FBY2=755)16. 77

5 21100385 (11"
6 6]10025%f /' g =5 (LBV2=74%)16.78

[ 8110033357 4 5% 4 4 (LEV2=7-85F) RiG
m)
10 31100342 05" Jg & 4 (FRV2=7 %) 16. 02
2[ 6137005% i
g w5 (BRV2=7-%7%)16. 49
A1 7110032 1 w4 (FEV2=75%)16. 58
5[ 2110002 5 K w4 (FEV2=75%)17.99
;i i oop 5 (FRV2=7 5%) RIS

[6%H] ( +2.3
2 e m 4 GRIETER-5E) 16. 24
3[ 4]1001684 ]
BIH AL F
[ 511002055 5
[ 81100364 v ¥§ b4 (ERV2=7-%F) Ri5

q
q
q



1[4] ERY2=7 A (1001675 5@ A5 100043 72" 261001045 m " 2 55610005 1% i 956
GAHA Tk NAY aus Y% Yavsa TAF 2k

2[6] FRV2=7 B(10013é§gg%\ 51001255 117 52 A 6100111115 3% A 6 100065 A f& A6

P
f

0O OmR R
A 55.75
57.49
1
1

BFINFEE 4 x 1

3[5] L6 TIEe A(S0031 i 5 456 30010i T ff 5 300416 [ "5 426300325 11 % 26

A[31L5ZI1E L B(300374 R j% 226 °30030= 73  #:6 3002075 7 4 45 3001707 A5

BFNFE ESB R

10 513002f8 & Fn #5 5 (L ZHL-HE) Tm21

20 2110013/ ¥ 75 sm 6 (EEV2=7-5E) 1m21

3[ 4137002% i 4 K 6 CHETiEG 4E) 1m18

41 713004180 F gk 22 6 (LHIIELHTE) 1mi8

5 31300104 /iy £ 5 (LbIHL-4E) 1ml5
[ 173002675 /1 4% A 6 (LbIIEL-#TF) Ri5

‘5_27]'7 ay s

[ 61100087 JI| 32 K6 (ERV2=T7 &%) RiG

BF/INFE ERBE RE

10 8110001 11 % K s 6 (LBV2=75E) 4m36 +1.
20 11100055 f&  “H: %56 (EBV2=7-5%) 4m29 +1.
3L 4131001 %3y e g 6 CHETER 5E) 4n05 -0,

411013002008 7 # 4-pg 6 (LHZIFE-#E) 4m02 +1.

T~

EERER Yo

50 51100147 & ;i 5 (FBV2=7-4%) 3m97 +2.
6 3]10027% 71 s &= 5 (FEV2=7-5%%) 3m79 -1.
70 611001575 i s A 5 (LEV2=7-45F) 3m64 +1.
8[ 913003748 R 72 6 (LbZIFE-%E) 3mlT ~1.

O[ 713710027% k4 Kk 6 kS %E) 3m4 0.
101113002075 2 3¢ 4= 5 (LbZiFe-#5E) 3m07 +2.

vay agay

[ 2130036 11 & A m 6 (LbZIFL 5% RIS

BFIMNFE Do)y R—)Lx[#9140g] RE

10 1110011 (115 & A Bs 6 (EEY==74F)40m68 KEH
20 513003748 ¢ 5 72 6 (Lb I 5E)36m71 REH
30 21100055 f&  H: 9k 6 (bEV2=T-HE)34m09 KR
41 61300104 /5 5 (Lb L %E)33m08 REH
5[ 3130029 i #H g 6 (LbIIEL HE)28m16
61 413002075 72" 3¢ A4 5 (LbIiEE 5E) 27m04

Tvay

[ 7130036411 &% 6 (LbZIEL 5E) &ig

ZFEHR-—H 1 00m F:E(1348)
8] (0.1 m) 2@ ( -1.3 m)
10 4110215%0 " i m 2 (KHK- 540 12. 53 10 411021697 ik Wi om 2 (KoUK - T36)12. 18

20 51102100 5 & w4 CROEK-#E)12.77 2[ 6)2215p5 £+ s wi 1 (iliacin- T3)12.89
31 61930318 1 5~ 4k 2 (HEKR-HE)12. 81 30 5197735 o 3¢ #¢ 1 REEEA-EE)13.00
41 8] 103753qn§eE we 1 G & - 5 £)13.15 41 8] 2216?&%’;;1*’*;;;1 (i ff1- T3)13. 05

5[ 7191091 1 3z 4 (BFRAFHE)13.20 5[ 711063205 By % & 1 (MEK-HE)13.22
60 111674 )k #1442 (IELTFE 551321 [ 13432012 = x 2 (IfH& 55 X5

T02) T T2 GFf-%i-45)13. 66 [ 21031571 5 2 (R 5 - 55 ) R 5

[ 31933800 ik 4 GRFEK-H5E) KRG [ 3]1028% % % w 2 (B & - ¥ B) ki
[3#A] ( -1.6 m) [4#8] ( -0.1 m)

XE/ T FETa oo

10 41910857 0 s 92 4 (BSFAF 4512, 63 10 312217475 &

:01. 84
:03.90

—_ — — ~—

NE2 3m83 +1.6

O PP OOHDOWO U —

D7 RN T 1 (A T4)12. 68
2[ 6116717 fF ‘223 (UNITE-%%)12.77 20 419307% ' #E1 GEEK-HE)12.75
30 519306 f5 7 | (HEK 5 E)12.81 3[ 6193050 Y #35 1 (BEEK-#%)12.82
41 3193435 3% v 2 (RTEK-HIA)13.14 40 2] 306/ " = 7 (UNITE-#%)13.20

5[ 832014 1% 5= 2 1 (kA H%)13. 24 5[ 8150480 uF 7 7 2 (EZH-4E)13. 44
6 219507, /i 4 mpM2 (LK. #7)13. 55 6 7)5063Ff (1 = a1 (EFH-HE)13. 64
H'™ % %2 (ki 451361 [ 1) 189 K w3 1 (i kf 55 %5

070 14
[ 11349155k 8 = 2 1 (BIIBAE5T) KI5 [ 110217 % K 7y 2 CRHK- i) Ri%

ay



(5#8]1 (  -0.1 m)

1[ 4142333 5 — 46 1 (REHA-HE)13.48
2[ 712220k T~ Z= @ 1 (- T-4)13.53

AFH HF3

3[ 3]1258f7 i nf = (i-Link-%%)13.78
41 2)22145 3k w2 (hok- T)13. 84
5[ 1110405~ % & (A 1.R-#%)14.49

A )=

[5]10343@557 %0 7 (WAVE-#E)) RI5
[ 6] 8&4 wirng 2 (Hh-kE#E) Rif

B=HT

[ 8] 12F N[ #% 222 (Hf—%E 5% RiB
[74#]) ( 0.0 m)

10 5132028 5 o g 1 (FILA - #E)13. 52
20 41319585 & 2% a1 2 (FFRALH-4%)13.57
3[ 612218 M & 1 (Hivif- T2£)13.62
A[ 3134224 w2 (IERE %%5)13.78
5[ 1] 21% 1 smee 1 (BR—4#A-4%)13.98
6 8142357 /| 4 B 1 (RERE-HE)14.00

NIA I AF

10 711682)11 & s 7 1 (lEAFH-%E)14.18
80 2112313 v 1 (el EAEf-5E)14. 44

(9#8] (  +0.2 m)

ER ="/

10 6142345 W W« 48 1 (RERE-%%£)14.07
20 5131987 7 sk 4 2 (FiRILE %) 14. 21
3[4l MBy 0w (WarAwEl)14.24
AL 7] AR m (AR B E)14.35

VIX VY

5[ 3132053 Jk w1 (FRALH-HE)14. 55
&< b 1 (i EAR%%)14. 92

6 8112345 & &
70 2] 66075450 a0 1 (IIEEA BE)15. 25
+0.5 m)

(1148] (
10 2]34364: 1 ® 4% 2 (IEMA %5131
20 716125k B me # 2 CEdbE -5 E)14.07
30 61103948 & "4 1 1 (W& - 5 £)14.17
A0 4] 23% T #1 (BR—kE-HE)14. 36
5[ 31167952 11 5 5 1 (& F& 575)14. 64
60 8] 806/t » s (OGS-#iE)14. 84
[ 5] 194 & 1 (Gi—ké%5E) Ri5%
[13#8) ¢ -0.5 m)
10 414782e0 5 45 1 CAERBE%E) 14. 06
20 515464,/f w54 7 1 (FORERE %%)14. 49
30 314232 °F T w2 (KEEEG-HE)14. 64

YNNG AR
ARF T A

41 61613045 K mip s 1 Cidhim-#E)15. 28
51 71423155 1w 1 3 (KEHE-#E)15. 93

YIA4 ad

[ 2154631 4+ 48 1 (MEEERS 5E) Ri5

R B (348)

(1#8] (  +0.2 m)

1071320150 = 23 1 (FrRdEE-#%)12. 83
20 3]10532/= 2 &1 WEK-5HE)12.89
3L 6]1674) kts #4h 2 (L fH 5E)13. 01
40 5] 306m = 7 (UNITE-%%)13.14
50419109 pr2e o 4 (BERAT5E)13.25
6[ 8] 3028 ¢ # (UNITE-#%)13.30
70 1150484t 37 % #& 2 (BAEZE -#%%)13. 32
8L 2143w w £ (A7V//ARH)13.51

(6] (  +0.2 m)

Y8 AR

103147135 m w2 (A7UV/R7R13. 42
2[ 4] 5%'w &2 (BR-&&5%)13.67

3[ 1]2219;;@:’\’@“ wom 1 (k- T3)13. 11

41 812213% m .0 my 2 (s T3)13.82

5[ 2147810 k58 1 O\HAIES-%5)13. 99
[ 5116738 1 &5 2 (IHEFE5HE) K15

BT IR TR

[ 6131995 738 2 2 (FIULRE 5%) Ri5
[ 71334458 47 1w (B EEG-5E) KIS

[8#H]) ( +0.3  m)

1[ 4] 3028 ¢ s (UNITE-%%)13.33
2[ 715062 < 5 1 (KEFE-HE)13.52
3[ 81548501 & T = 2 (FOHERA%%)13. 56
41 61168330 1 it 7 1 (lEikTE 5%)13. 82
5[ 31612909 (11 #h 32 1 (At -5 £)14.05

TFA Y

[ 101247% 3 = v (i-Link-%%) %%

[ 21102971 v 2k 2 (B w5 - B ) RiG

[ 5146038 & "% 1 (NEXTS-#7) Ri5
[1048] ( -0.2 m)

10 5134247 K" % & 1 (s E-#%%)13. 85

UFL T3

20 6113779 /@ Wi 92 (WE<A44E)14.28
30 711233 45 s w1 (Ely EEREE) 14. 31

IARY )

41 411038k 31~ #h v 1 (B & - 55 £) 14. 69
5[ 3]9832i i oo v 4 (MEFKHE)14.90
6[ 21423671 7 = % 1 (KEHE %) 15,11
70 81349375 w5 " % 1 (BIIEAE 5E)15. 52
(1248 ¢ -1.0 m)

10 5132030 ¢ s % 1 (iR -%%)14.27
20 8]6126% 41 1 3 2 G- %) 14.47

£ F % Fq

3[ 7132044 I g 1 (ke - 5E) 14. 69

47 315461577 =& i | (ROREEE5E)14.99

FINT 74

[ 611042, 1 2 47 1 (5 f - 5 ) 15. 49
WO g w3 GEERE ) 16. 07

6 2119872 Jix
[ 4] 4815 =7 1 & 1 (KEE-5F) RIS

v

[248] ( +0.1 m)
105]9305yv>nm #3551 (HEKR-HE)12.70
2[ 61221575 k¥ % w5 1 (Fifa- T3)12.77
3[ 712216 wp . w3k 1 (Hi#h- T3E)12. 87
41 3197733 5 28 & 1 (REREK-HE)12.96
5[ 8]134364: i H £ 2 (I E-%%)13.08
6[ 111037 w2 e 1 Bk i - 55 £)13.22
[ 219343 gt 44 Jy 2 (EK-HiAK) Rig
[ 419303 m 7« {1t 2 (B EK-HE) RiG



[3#8] (  +1.2 m)

10 411021647 gRATI 2 CREA-THE)11.85

2[ 8]10210 % 45 &% ny 4 (KEK-#%)12.40

30 21167195 #F 2 2 (UNITE-#E)12. 42

41 719307 w1 (FEK-HE)12.57

5[0 312217 5v72 g474-+ 1 (i T%)12. 58
[ 5]10215=F & f M2 (KK i) Rig
[ 61910877 B sk 32 4 (BFERAT-WE) Rig
[ 119306 /& 16 & 1 (WER-&E) K&

£

110216 47 FRAT M 2 CRAE K- T1E)11.85 +1.
210210 % 45 5 w4 CKHOK - B )12.40 +1.
3167195 #F 223 (UNITE-%%)12.42 +1.
4 9307 % # 1 (B F k- B E)12.57 +1.
5227 5v7a 75—+ 1 (M SLAA - T 3E)12. 58 +1.
693050 v 5 1 (HFEK-HE)12.70 +0.
7221595 & g @i 1 (TS24 - T3)12. 77 +0.
832014y 5= 23 1 (FTRALE -5 £)12. 83 +0.

PAN
(=]

D2

TFa-—fE 400m R 6GH)

[148]

10 5150635k (13 w1 (KEFR-4E)1:02. 95

20 6] 4810 &7 m & 1 (KEH-#%%)1:03.10

3[ 413202E S s s 1 (FREE-%E)1:06. 58

A 3110390 & 4 w1 G & - 85 £)1:07. 42

5[ 2]3194K % w2 (FULE-#E)1:09. 30
[ 713197 " a5 7y 2 (G -3 E) KI5

[3#H]
1[ 413195
2[ 5] 5067
30 7] 31987 i
4[ 3]3500F %
50 811030 57
6 2133223)
[ 6] 507% %
[54H]
10 51343605 w45 2 (Il A-5%)1:00. 21
20 719116)11 %~ % 4£ 3 (WA 55)1:04.25
3[ 212220k " Z g1 1 (Hrka- T3)1:05. 98
AL 3]349155 k& = 7 | (BIIAAEHF)1:05. 99

TxXL VT

2 2 (FRIE-5E)1:03. 26
iS22 (KEE-%E)1:06. 73
e 2 (FRIE - 5E)1:08. 79
% 2 (BIIBAT5E)1:00. 91
Sk 2 (B - 55 E)1:11.03
0 2 GRRRERHA)1:13. 01
%42 (KEE HE) RIS

¥ vz
N

= B
%

SIS AR

o

i

K

7

[ 4] 6051k e WET-EE) RS

[ 619772 1" s f 1 (REEEA-%5) Ri5

[ 816131/ < 54 1 Gl % E) ki
0y N
[] QTR mm

1930308 1 "« ¢ 2 (¥ E K - 5 )58. 80
291100 J0 " vb 4 4 CRSBEK%- B F)58. 85
3504048 A 9% 72 (BKEEE -5 ) 59. 35
4343605 g w452 OIBERE R - 25 F) 1:00. 21
591234 3t 2 fusz | (RSB #5)1:00. 27
6 320154 5= g3 1 (FRALE - B5E)1:01. 21
734825 B g 2 (NBUR - B E) 1:02. 88
8 2219 K v % g 1 (ST HA- T-%)1:02.93

[248] |

1[ 415485)11 & "+ = 2 (ForEEE-%%)1:03. 90
2[ 2150623 < % 7 1 (BkEE-#%)1:03.92
30 3] 26950 g kr 1 GER—%&#5E) 1:04. 67
A0 6] 1021 135 2 2 (Bf—kE 5%)1:04. 92
50 5] 63132 " 4w 352 (IIHAA #%)1:07. 83
6 8131961 ¢t & 2 (FRAE %E)1:08. 41

[ 7] 16/ 1 #i % 2 Gif—%& 5F) R

[4%H] FA FA2

1[ 5)504941 /& 3% 7 2 (BE#H-4%)59. 35
20 4132015 5y 7= &3 1 (FRAE-%E)1:01. 21
30 212219k 1 4 & 1 (Fsrfi- T4)1:02.93
4[ 816128% Ff 4 222 CRALE-#E)1:16.17

[ 31912255 3 frmnse 1 (BERAT-HE) RiB

[ 6] 12E /I # 2 2 (FR—%kE-HF) RiG

[ 71103152701 "0 & 2 (W s - 85 B) RS
(64H] ;
1[ 6] 9303”53“%/1 2 (WEK-HE)58. 80

20 5191104 30 1b 4k 4 (E¥BK% )58, 85

3[ 3191235 9 2efnse 1 (R¥AS4E)1:00. 27
AR~ 2y

40 7134428 % 4 2 (Nl BAI-555)1:02. 88
5[ 2] 1027%%575?77} i 9 (ﬁ% . i§£)1 :06.14
60 816132 it 0 | CRACH -5 £)1:12.52

YENY ALY

[ 411674) ke &4k 2 (8L fH-5E) Ri5

TFER-—HE 8 00m REE(44R)

(148)
1[ 21930074 1 #i 7 3 (B EA-H50)2:32. 40

20 4110769 /1 fmE 2 1 (HE¥K-HE)2:35. 41

3[ 7150647 "7 m w1 (KEFE-£5%)2:40.35

WY AFE

A[ 5] 25=
+hy e

5[ 31506614 ik

Bk g 1 (if—%m-%%)2:40. 95

o El (FkE2[R #E)2:42. 08

6 8150656 1 (KESRE-5E)2:42. 34
[ 6134275 i w1 (IBEE - 55) KI5

1
1[0 5132005 %"\ w2 (LA %%)2:33. 27
20 313193% 1" 7 352 (FRALAE-#E)2:34.94
30 8] 64\ W Zs2 Gff—kEH%)2:39.15
41 6135007 % 25 /k 2 (BIEAH%%)2:39. 30

[ 2] 483"y a9 1 (KE&-#F) Rig

[ 4] 16000 #1 % 2 (F—k&-4E) Ri5

[ 7154623 & w1 (HERSHE) Ri5

N —= = NN DNDN



[348] ]
1[ 4]3194%5" %

v AE

2[ 213196 75

W2 (FiRds-5%)2:28. 34

' &2 (FrikdtE-5%)2:31.85

30 81342150111 % 2 (IIEAE- 4E)2:34. 32

4031 24k W g5 4 | (BR—ki%%)2:35.79

5[ 6] 227 i & g1 (k&%) 2:40. 51
5] 84017 & % 2 Gl ké-5E) RIS
i %2 (RE®-&E)RI5

v7a kFf

[ 7] 506 +

i)

ey 3

1 9122;;%427?%@;1 (ks 3 E) fald- 14
210136 5% 1 32 2 1 (GTHOK - 55 F)4alé 21
3012350 St 1 (REFAS-5%)2:19. 80
4344411 K %3 U118 5 - 57 55) 2:22. 93
5 9116?[1”*5% T e 3 (R 5E)2:25.37
631044 % w2 (TR HE)2:28. 34
791215 W 1 7 1 CRFRAY-5F)2:28. 54
B e e & 2 (FTRAEE ¥ E)2:31.85

8 31964 ¢

[448]
1[ 6]91223@%42 s 1 (REEkEE) 240 14
20 51101367 3 32 %1 (32 %{j{¢%\}£)%£§.21
3[ 4191235 38 =g 1 (LR 5%)2:19.80
40 21384411 & b sk 3 (Il & 5 F)2:22. 93
5 3)9116]1[ 5 " % i 3 (RJEk% %)2:25. 37
60 8191215 M 1% 70 1 CEFRALHE)2:28. 54
[ 1] 507% i A %% 2 (KEH %E) R
[ 71505185 W 75 2 (HESE-5E) KI5

TFER-—f#% 1 00mHI[0.838m/8. 50m] &A% (340)

[1#8] ( +1.4 m)

10 4150807 i 5t 2 (P28 #5%) 18. 68

20 7132042 15 w1 (FTRILE-E5E)19.16

3[ 3] 5067%%”’@*; 1 (B2 5%)19. 53
[ 2] 33208%@3;”7%% % 1 GRpEs 7)) R15
[ 5] 27444 " & (BloomHE) R
[ 6] 5108 } 72 (KEE-%5E) KB

[3%H] ( -0.1 m)

104199914 & 4 (AAK-#E) 1400

20 5193055 2 1 ¥ 1 (B E KB E) 15,10

30 2] 5% & (g2 (k& 5%)17.70
[ 3] 332105&%7;;)5ﬁ 2 GRS H0) R 15
[ 619301 iﬁ“};g 73 (BEKR-HE) RIS
[ 7]31995 8 8 2% 2 (FiRLE -5 5) Ri5

(2#8] ¢ +0.4 m)

2HH BT

10612218 m  F a1 (4. T3)16. 80
20 4147750 3 0 f 2 OAERBE-HE)17. 59
3[ 2147765 & i #i2 (AHRBA-%%)18.40

Mo 1 (fly EER%5%)19. 62
i, 1 Gl EEE5E) &5

41 3] 1233:*7;# 7

[ 51123183 2

}4I~ 7Jf

[ 7116787 i 28 % 2 (IATA-HE) RIB
4N AN
"Ln‘ D
199914 4 34 (B A K- B F)1481 0.1

2930552 5 1 (B E K- iﬂa;cg%;o 0. 1
ZAE T

32218 = 1 T a1 (i~ k- T-3£)16.80 +0. 4
4 47750 57 0 2 NS 55E)17.59 +0. 4

5 5% i gr2 (A ki -55)17.70 0.1

FH< 'Y

6 4776 % 5 1@ #i 2 CARmFRE-%E)18. 40 +0. 4
750505 [ B 8k 2 (BKECFE - £7F)18.68 +1.4
83204% W5 w1 (FTRALE-E5E)19.16 +1.4
—_— e
TFER-—i% 4%X100mR £ (Q2%48)
[1#8]
10515 dt %(6129%&1%;7;1 6126%}%45 r’:ﬂ’a 32 61257}2%”&7; %2 6130%7& H)qaf.gl)SG.SQ
2 (4157 V2 3 A v (A8MVBU N Je 02 ABAAK ik 5 1- 484655 5 7% e 1- 48455k 1) 3 72 2) 56. 64
[S1HURRHER A (332267% Jpr ok 522 332108l &2 7y 2 3321006 7k & w2 302230 v i o 2) KR35
[6] AR B ( ) Ri5
[7]TscAamE B( ) Ri5
[24H]
10615 % B K (91200 a0 i 2 91081 7 sk 924910911 5fi tee 04 91151\ s x 22 3) 48. 97
24T A (221575 % i 122175575 84 7h—7 1- 22168 05 et e 1 22182’3%" $ﬁ1>49.64
3717k 5 [ 5 (5057 wF b, 45 2 5049FR A - 7% 7-2-50480 5 %2 5063k 11" 2= #p1)50. 78
4 (2] it #1038k 2 4y 1-1037Tm 2= a1 1039&’%7”%&@ 102746 M % 1£:2)53. 71
[3]7R F — 2z & ( ) R35
(6] K B H & ) Ri5



2
o 52>
Hn nb

1 E N PN 48.97
2 i E A 49. 64
3K W 50. 78
4 Bk = 53. 71
5 %K 1t = 56. 59
6 B B A & 56. 64
TFER-—HE 4% 400mR R

1[2]% K K(9308K K 21 930271 4K f %2 9307% @ 1 93031 A x4 2) 3
2 (3172 % 5% K 2 (91001111 Fot o 4- 911046 3R sk 4- 912331 0F S sz 1- 91220 4 (s 1) 398
3LAJTH SZ A0 A (2219 4 B 122175075 63474 1 22150 4 7 w51 22168 075 1) $90
A[51%Kk # ¢ [E(50505k m B 352 509 £ i 7250485 1 i 72 5063k |11 2 ap 1) Faly-
(6] S2 1 B ( ) R35
71k & & ) R35
— ] L f— - kS [
TFa-—ik ESBk R
10 71821455 & v 4  (5EHER-%E) 1m67
20 5)3301[df [ i 4 (HEREH-HE) 6T

3[ 11537135 [ 44 #& (AMOZKAEHE) Tmbb
AL 41348 31 ok 2E 2 (IEE- S E) 1mdb
401250674 1 B 5 | (REXE-HE) 1mdb
6 313492 & p 6 1 (BIBAEBE) 1md0
7010116934 %" @ @ 1 (IBkFE5E) 1m40

G

8 2110323 iy B 322 (B - B ) 1m30
O[ 81612781 JF #i 22 Cldbd-#E) 1m30

[ 611081611 Ff o fir 1 (CLECK -5 5) R 5

[ 9150584 1~ # & 2 (KEFE-HE) RiF

[11] 1@ 3 a2 (ki 5% &5

ZFER-—i% EREB R
10201911511 Zs 2 22 3 (BEIAE-HE) 5m83 +1.
2027110097 555 A g~ 4 Qr#k-#HE) 5mI3 +1.

3[ 61983348 7 B £ 2 (MEFA-HE) 5m66 +0,
AL 20106320 3 &1 (BEK-BE) 5m64 +0.
53119768k 7 9 s 2 (REEEAHE) 5m6l +1.
630198347 L 130 2 (HEFKHE) 5m33 +1.
701091201 w7 " ) 7z 2 (REBEAF5E) 5m27 +1,
81 41101184 %3 (CLECK-HE) 5m15 +0.

9[13] 2@\ f B x4t 2 (if—&E%5E) 4m95 +3. 34052 4mo1 +1.8

100251 20K Py % 4 1 (HFI—LE-%E) 4m69 +1.
11[22]50560 '~ 5% hn 2 (KEFE-HE) 4m67 +1.
122911692 %011 7t 2 (IEATH-HE) 4md8 +1.

130261342438 k" %k & 1 (IBME-HE) 4ndl +2. 42358 4m24 +1. 1
140 911682/I1 & i 7 1 (IBAFE HE) 4nd1 +0.

1515134925 f6 w46 1 (BIIBAE-HE) 4m28 +3.
16017) 1781w & 2 Glf—%k-5E) 4m23 +0.

170 31342510 % 2 w1 (NI EREHE) 4m15 +1,

TNT B

18[23] 3322671 it 2k 92 2 CHAUKEER - KK 4m12 +1.

AF8 4m18 +1.3

19[281546151 " 7 i 1 (ALEEE%E) 4m00 +0.

20101349335 '~ 2 % 1 (B)IRAH-HE) 3m84 +3.
21[ 7147745 *’% e 2 (ARG 5E) 3m66 +1.
22[21]1234%: % < < & 1 (flrEEK-45F) 3m62 0.

23241332083 sty o 2 CRAUREER ) 3md8 +1.
24 8133207 & 1 > 1 CURAIER-HR) 3m34 +1.

ERAY 2%

[ 5133283 fg )i b i+ 1 CRURRIER - H00) R 355

2AE8 3m77 +1.3

NOOODOWUTITOUT®O—=HBRW—=WWRNOUTIWNO®DHA~ O
N
5>
oul
¢

Ay =
oo O © W



T A U

(11112472 75— g b (i-Link-5E) R
(121332190 1 25 L 2 CRRREA BR) Ri5

[14] 183 A& % 3 1 (if—4# HE) R35
[16] 280\ A gz e (Bloom %) RiB

TYYE A

[18] 9113@4@]\\ 2% 15 3 (BFHERFBE) R
(191332325 N 2 3 1 GRS 400 &35

¥R —ik =Bk R

wrw X

10 9]1665k ] 4 & (STAC-T3)11m81
2018197687 7~ 4z g 2 (REFEK HE)11m76

GAFH VS

3[1311395 ¢ i 1 42 CREF & #E) 11m69
AT10]9115 N B Zs 2 2 3 (kA% 5E) 11m57

7

514198347 13 > 7 2 (HEFK-HE) 11m02
v/ Y%

60 719120 F wy i 7 2 CEFRATHE) 10m71
TL B148MBU R f L2 (RERA-HE)10md4
8L 2] 2P\ B qk 2 G-k HE) 10m23
9[ 8]15058% H = 45 w2 (BKE%HE -#E)10m16
100 113437455 A& 2 i 2 (Il % E) 10m13

PHER AV
X TUH
¥,

11[1715057 K 5" 43 ¢ 2 (2% %) 10m00

120 41423748 v ® 3 (RERE HE) Imdb
130 3116922 5011 st 2 (B +3-4E) 9m37
[ 6198334 7 s %% 2 (HEFK-55) KI5

[11] 9113@7@;:17% 1 3 (EFERAF5E) Ri5
[12] 20k 'y 2 481 (%@ &) Ri5

(151805057 (& #j s (Eifer &%) R
(1613197 a8 7y 2 (FTRILE 5E) RIS

U s ma

(19484675 8 75 « & 1 (HERA HE) RiB

— O wWNhNhNOoOOOSOHSWNO AP W

C285810m63 +0. 4

¥R —ik A4 000kg] R

a8Y Y BED

10 119769/ #k #f « v 2 (REEEK HX) 10mb7
20 319771 5y 7 2 (RELEK%E) 9m84
30 61167155 i~ wE2 (lE&FE4E) 9m38
A[ 5148897 i 7x | (FEHRA-HTE) 9mO4
5[ 715060 F = 5k 2 (REFE-HE) 9m02
61 4138805 3F mAlE 1 (ALAKEHE) 8m89
70 914831 K F B3 1 (HERA-HE) Tm7

ey F

8 21477711 7% = 7 2 OAMABFE-HE) Tn16
o[ 8132059 & w1 (UL -%E) 6m66

ZFmiR-—ik AR, 000kg] R

1012116715 i~ k2 (@& TH-HE) 30m26
20 4148497 K i 7x 1 (BEIAA - #E) 30m18
¥/ v VAT

30 204831 K T By sk | (KA HE)30m7
A1 91481 LU FF J¢ 512 (A HE)28m12

50 715061101 " # 52 (kEHE-%E)23m10
AAv VT

6[ 514844°% 5wk 51 (KA HE)22m90
70 8] 634 1 = 2 (JIMRA%E)18m76
8[ 6] 63744 |1 & %2 (IERA #E)1Tm31
O[11] 4 i wy A 2 (iR~ &E-HE) 15m32
10[ 3148385 #  Fu3 (FEAA-%E)15m05

[ 1191185, v 5 2 3 (¥kY-5T) RIS

A= b TAY

(1091198 & 7 ¢ v 2 (BEEAT5HE) RIS

ZFER-—H ©YK[600g] REs

10 50178945~ & g GURbeH- %) 37m50

YU LAh

2[12]9118 5% & g 4 3 (BFhRF &HE)36m07



SYAAY v

3[1914607 5 k% wefls  (NEXTS-#K)32m04
4010] 637THS |1 5 % 2 (@A %E) 29m29

5 11108371 il ¢ s 2 (W% & - 5 ) 26m75

60 9] 881K £f % (Eifer 4E)24m20
701719836 1 1 =2 3 (MEFLA-HF)22m80

NS

818132031 J¢ s 7 1 (FHUILE-#E)22m19
O[ 3112324  # 312 (Hlr GAl-4E)20m81
#E % % 2 (lEETEBE) 20m08

100141167875

110 813441 %1 " # 2 (llgiFaE - 5E) 19m59
12016116795 11 5 32 1 (IHkFE-5%) 19m56
130 2] 13 s # 2 (Fi—k@& %%) 18m93
14 6] 48451[143“%; 2 (HIERA - E) 18m89

150131104255 1| 2= #j 1 (B = - B5 ) 18m86
16[11]4844 % F 5 5 1 (BIEGRA - 5E) 14m87
1701511038k 1 i 7y 1 (% & - 55 ) 11m62
18[ 4] 66077151 == 1 (IIEEA-HE) 9m10

[ 7] 280J0 K it (BloomHE) Rig

EFFEE 100m FEONTHE)

[148] ( +0.8  m)
10 61120758 )i =03 (HEE-H-5%)13.19
20 3] 334k T #E 1 GRESHHE)13.72
3L7) 64 i Ty 1 (RREATH5E)13. 80
41 8] 8533y " g w2 (AT HE)13.95
5011 6110 B % 1 (LRATH 5%)14. 39
[ 2] 301/ ik = 33 (RIET - 5E) RIS
[ 4] 3625% % ik % 3 BEH-%F) R
[ 5] 3613 50 == f 3 WAE=t-4%) R1B
[3#8) (  -0.4 m)
10 4] 22337 & %3 (FEEH-5%)13.72
20 6] 2864 11/ % 53 (Bloom#E)13.73
30 3] 2014k ) 3% v 1 (HRJA-#E)13.82
40 81131975 5 & dr 2 (EEEF-%E)14.57
5L 2112145 | w2 (BEE -5E)14. 67
60 7] 354 4 % 03 GIFEET4T)14.68
7010 4510H By AR %E) 14. 82
[ 5] 283% "% 723 (BloomBE)RIB
(54] (  +0.5 m)
104110210 % o 2 (RFEET-HE)13. 80
20 511219)11°F "0 85 3 GRS H-455) 14. 00
3[ 8] 254/ & W 2 (LRET-%E)14.04
40 1) 25508 % w2 (REFET-5E)14.16
5[ 2] 205K 11 # 3 CHEH_M-HE)14. 82
[ 3] 857% & w42 (IEHEYT %E) R
[ 6110345 i a1 (LR 45) K15
[7) 211 w3 (RS h5T) Ki&
[748) (  +1.6 m)
10 5] 41508 3 3 we 2 (bl -#E)14. 36
20 7] 2824 £ oopE 3 CREHZMHE)14. 47
3[ 2] 3585 A il (LREF-%E)14.55
i % 3 (WIEE - Hh-5%) 14,57

41 4] 2873w
5[ 8] 8525 i s v 2 (BT 5%E)14. 58

I
o,
B:}%

6 6] 3394 92 3 (LRIH-HE)14. 86
T[ 3112065 % pg 2 (Ml —-5%) 14. 94
[ 1) 308%: m & A1 (WiEh 4% R

[248] ( 0.8 m)

10 4] 29145 72~ 2 %: 2 (Bloom-%%)13. 86

20 T11200% B %, = 2 (HEH_H-5E)13. 91

30 3] 835 I s 2 (Bloom#E)14.32

40 8] 219%H 7 5\ 3 FHEE-H-5E) 14. 51

50 1] 4528 2 w% (AT 5E) 15.10
[ 2] 627 i 3 & 1 (LRATHHE) R
[ 5126160 3% @y 1 (A5 E) Ri5
[ 6] 75088 &~ == 4 (FRABT4HE) %5

(4% ¢ -0.2 m)

10 6112098 /17 4 % 2 (g —h-%%)13. 37

20 7] 303~ m 3 (fIET-5E)13. 60

3[ 5] 75147707 & 0 (FRABH-HE) 13. 65

A[ 4)452278 3 fk 2 (SHRT-4%)13.78
50 8] 310[ 1 1% 7 2 (IS 5E) 14. 05
6[ 114547, pk g8 3 (SHHT-%E)14. 63

[ 21121046 & 2= 2 (HEE T 57F) R1B

720 FEY

[ 3] 9304 /& R w1l (Bloom&E) RiG
[6#8] (  +2.3 m)

105] AT 2 45 = 2 Gl -5 ) 14,13
20 3] 2475 W% 3 (FEE-H-45E)14. 30
3[ 4116874 il 2125 2 (AT -4E)14. 42
AL 7] 8765 07w m 1 (B T-5E)14. 43
5011 317 & f g 1 (LRF-5E)14.65
6 811687 iy % tx 2 (BAMT-4E) 14. 71
70 2] 210/ "7 45 # 3 CGREH-HHE)15.13
[ 6] 203% 5~ fm 3 3 (HEH-H-%T) RIS
[8#8] (  +1.8 m)
10 5012425\ % 1 GFEH - 4%)14. 30
20 4] 3074 % A 245 2 (FIIET-HE)14. 32
30 3]12619%4 11 2 4 1 (AHEd-25E)14. 36
40 2] 3164 F 3 1 (SRS -T4E) 14. 58
51 611204]11 iy gk # 2 GREH-H-H4E) 14. 61
60 7] 31505 Zaeal 1 (RS 45E)14. 75
70 8] 2241 F 7 v 3 (BEE -HE) 14,83

[ 1112337 @ 6 4 | (FEE-H5E) RIS



(9#8] (  -0.2 m)
10 5]26217%% g m wx 1 (HiEd -5 F)13. 91
20 6145050 i 1 (HEET-HE)14.22
30 1] 753563 A 2 (FHOZH HE) 14. 52
40 8] 3Bl Kk EEa  (LERREMHE)14.77
5L 7] 3175w #0 Zs 1 (s —1-4E) 14. 87
6[ 4] 238p9 Ff 1= 2 3 (HEHH-4%)15. 01
70 211005 15 7 % 2 (ERF-#%E)15.03
[ 3]12125 /1 #r 7 2 GBS 0 57F) RiB
[(11#8) ¢ -0.7 m)
1010 4930 % s 322 (RRET-%E)14.70
20 4] 2523 ¥ =2 (LRET-HE)14.87
3[ 314517\ % 7 2 (S HH-%E)15.27
41 814503f[ & 2= A 1 (BBRET-#%E)15. 44
5[ 7]1688%% m 1 (FAmH 5%E)15.52
60 21 121150 iT 5 #6482 (W%~ h-5%)15. 92
7[ 6] 12033739”5?3%: % fn 2 (G -H15%)16. 22

[ 5] 7514 X 31 3 (HhOkP-5E) Ri5

[1348]) ( -1.2 m)
1021132001 /.0 i 2 (REFH-5E)15.17
20 8] 4112 K" w46 2 (Il #E)15. 20
30 6]1213% m' me 32 (FEE_H-455)15. 21
40 7] 2704 i Fn %2 1 (RRESHE)15. 38
50 3] 364 i & %1 (LEF-HE)15. 60
6[ 5] 271 s v = 1 (LEFET-#%)15.82
70 4] 1802 2 #il (HES-C-%%)16.56
[ 11100143 % m 2 (ERF-%E) KB

(1548] ¢ -0.3 m)

104] 451" & 41 (LRES-%%)15. 51
20 8] 2754% m 72 & 1 (LREFEH-#E)16.93
[ 2] 45285 j % 6 1 (LRES-8E) Ri5
[ 3] 4195 &5 g 202 ()15 ) Ri5
[ 5] 237% i n 2 3 (RIEEZ9-455) R 45

[ 6112405 N i ~ 1 (RERZTAF) R
[ 71450245 & g % 1 (BHHET-5F) KRB

[1748) (  +1.8 m)
1[ 5126204 'm" w1 (B -%%E)15.10

T K

#i &
2[ 8] 873w mk v 1 (B -5E) 15, 41
)

3L 7112445 5 " v 42 1 (BEE H-5F)15.77

40 4] 206{ m g 3 (HEE H5E)15. 81
5[ 6] 515*\@:@; s 1 (WP -5 5)16. 24

6[ 3] 1220’;; o g 3 (BEE H-55)16. 60
[ 2] 202570 7 7 1 (LREH-BE) RIS

[1048) (0.7 m)

10 3] 8745 5 o % 1 (IEET-5E)14. 69

20 6110321 " 2 Bt 1 (RRF-#%E)15.10

3[ 5145250 [ A 75 2 (FHRH-4E) 15, 31

41 21168878 A jp 1 (F/FEH-4E)15. 73
[ 7112450k ' g v 1 (RIS 145 R
[ 8145085 W % 7 1 (GHET-HE) RiG

(12481 (0.2 m)
10 5] 203%: " g 3 3 (HEHE_H-15%)14. 88
20 611687 JF e f0 2 (FHAFH-55)15. 04
30 4] 314K £ 1 (IR -45E) 15. 07
A0 7] 4913 s ok 2 (LEMP-HE)15.17
5[ 2113050 m' & 3 2 (RREHHE)15. 52
60 1] 201 K% #Ems 3 (REE H 4E)16. 22
[ 31451636 51 we 2 2 (BER-HE) R
[ 8] 4148 fs & # 2 (M)IF-5%E) ki
[14%8] ( -1.3  m)
10 1] 25 0 g R 1 (LES-%E)14.20
20 5]1241% W' 4 & 1 (FEE-H45E)15. 68
3031 37T m B Z1 (EREH-#%E)15.84
40 41 3115 5= oo 1 (R)IHCH-HE) 15. 85
51 6112315 )il fige 1 GREH-H-H%E)16. 61
6[ 2] 2779 1 B8 % 1 (LEFET-#%)16. 65
70 71450700 F &< 5 1 (G EFB-HE)17.27
8 8] 251y o= 2 (LEMET-#E)17. 28

(1648 (  -0.1 m)

10 611243110 K " 3¢ 4 1 (BEE-H-15%) 14. 99
2[ 4] 3083 s 4 fp 1 (LESF-#E)15.23
3[ 511703 1 == % 1 (PR #%)15. 29
41 8] 301 f-fa, s# 1 (REFHF-5E)15.41

5[ 714506% i 4 iB 1 (GERF-HE) 16. 24
[ 2116884 Ff = wy | (FARMH-#E) Ri5
[ 3] 4185 JF 45 2 2 ()l - B E) Ri5
[ 1] R iz



R (278)

(1#%8] ¢ +1.9

m)

10611021k & F s 2 CRFAET-5E)13.
B e 1 (- 5E)13.
oom &E)13.
%) 13.
= 1 (RREM-%E)13.
O 1 (BRRTET5E)13.
2 (IIBES-5E)13.
o5 %) 14,

2[ 81262175 fiE
3[ 3] 29145 1=
4 7]1200% g 4,
5[0 6] 2014 =
60 4] 64 )i
70 2] 853wy =
8[ 111219)1] #¢

4N AN
e 3

1120754 )1l 3 (R - 5HE)13.
2120988 JII & %2 CHEH_H-5HE)13.
31021k & F w2 CRAHEES-%E)13.
426217 jE B9 w1 (H M-85 )13,
5 2864f (L %ﬁS(Bloom HE)13.
6 3037 o33 (I - B E) 13,
7 29145 3= j%fﬂ:Z(Bloom BE)13.
812007z g8 4 =48 2 CHIER —-5%E)13.

% 42 (Bl
Em 2 (FEE-

e gy 3 GRS

(142] (
10 7]
2[ 2]
3[ 3]
41 5]
[ 4]
[ 6]
[ 8]

-0.8

201@%);—_

m)
uif 7y 1 (ERJE-5%E)28.
Ty we 1 (g5 E) 31,
T w1 (IR B E) 31,

Fn 46

[3%8] ( -0.2
10 6] 30473 w5

2[ 31121457 1

EPLPA )T

3[ 8] 218
AT 5] 33% B
50 211687% 3¢
6[ 4] 10042]5@1

70 1) 2100 ¢
8[ 7] HJ/? 7

30eh
[548] ( -0. 1
1[ 511209¢5 JI|

EXHU 2T
A

2[ 1] 291@}{3;’;

30 2] 31088 1

A‘f/\x )

m)

2 GRES-

F 23 (R

*f*?“B CorEs —
S
m)
K ¥ 2 (FEF—
% 42 (B

5[ 8] 83§§”le|’ ’ B2 (Bl
6 6] 1219JI| ﬁ By B5 3 (=
[ 3]1009):'#53 Fopad

[ 4] 93042 & jm w1 (B

10
45
48
53
99
60
67
67 +1.9

TFHRFEE 20 0m RisGH)

w =1 (LERAYT-5E)32.
o7z 2 1 (LRET-HE) RiG
e o1 (I E) RIS
(FrRFABT -5 E) K5

e A1 (ERET-5E)29.
%) 30.
% %) 30.
5 2k 1 (BRT-%%)30.
we fo 2 (FRREH-5E) 31.
g2 (ERF-5HE)3I.
M%) 31.
= 3 HFEET-5E)31.

HesE) 27.
oom-%%)28.
X A 2 (IR -5 £) 29.
A0 7] 3090 22 {%2 ()R- 5 %) 29.
oom%%)29.
W5 E) 29.
22 (FRP-HE)RI5
0 om-5E) KI5

48
53
67
67
69
95
95
19

85
03
38
29

33
36
16
817
03
25
66
n

18
68
11
49
14
96

+1.
+1.
+1.
+1.
+1.
+1.
+1.

O N DN O ODNdDN

[248] (  +1.2 m)
10 411207+ )| =03 (FEF_H%%)13.10
2[ 51120909 JI| A& % 2 CHMEFE_d-%%)13. 45

3[ 2] 2864f (I 2= 3 (Bloom HE)13.
4[ 6] 3037 o33 (IR 5E)13.
5[ 8] 223y A #H 2 3 (FHEF_F-HE)13.
6[ 7] 334k D 1 CGE=f-5%)13.
70 3] 1514 y7~0—-2 R O (FrRmBH-HE)13.
8[ 11452278 . 3 {k 2 (BEHHP-HE)13.

(248] ( .06

1[ 5] 1032[%75\314

2[ 3] 31444 1A

‘EI~ VA

m)

%l (ERP-%E)3I.
fh A 1 (IR -5 E) 31.
30 4] 2393 A& &% 3% 3 (HEFE-H-HE)32.
AT 711206 K e 2 CHHEE-H5%)32.
5[ 1] 31125 = o 1 (I RP-5E)33.
60 2] 201%4 1@%;@3 (g 5% E) 33.
TL 61122100 8 #& o 3 (W -H-5E) 34,
[ 811239 " % ¢ 1 (HlE&—
[44H]) ( +0.3 m)
10 5] 2235 & 3% 3 GRER
2[ 6] 219% EH y%gl,\?, €:7:3
3[ 7]1687%,”3[12
40 2] 205K (i f 3 (S
5L 411201500 5 3k 2 (RS
[ 1]1210% &7 22 (FlEsS
[ 3]
[ 8] 30170 ik

B

LIS

=&
HP

20901 g 7 2 G i) 2. 78
291/’&5 {ﬁl % ,-f*Z (Bloom-%%)28. 68
2018 & = gy 1 (LRJET-#F)28. 85
31018 11 1 7 2 RIS - 357) 29. 11
2233 A 3 CHEF - #5E)29. 11
3044wy " w5 1 (BRHD-5E)29. 33
309’%‘%””% w2 (I B - 2 ) 29. 49
219%1 M 2 50 3 (RS - 5%) 29. 65

O do PO DN—=

99
60
68
14
82
93

69
86
18
95
14
36
15
8 E) Ri5

“heE) 29,11
“eEE) 29. 65
x5 2 (RS -5%)29. 76
“ieE) 31,29
~he5E) 33, 51
ST RIS
627 % A 1 (REKTH-5E) KI5
w3 (IR 5 E) Ri5

LW —= N W — 00— —



TFHELE 80 0m R (6%H)

(s8] [248) |
1[10] 85471 e zpm 2 (BT 5E5)2:49.26 1[ 1] 34u4) <y=1 (EREF-#%%E)2:45.86
20 114504 " A7 40 1 (GHAT4%)2:51.26  2[10] 6305 « A i 1 (LRATH 4%)2:49.18
3[ 4] 2763 & i e 1 (REFT-HE)3:01.37  3[ 911237k i 4 w1 (BEE-H-5F)2:50. 23
40 5] 504527 "t gp 1 (RERAT-5E)3:02.38 4 5] 2784k F ik 1 (RRMH-#E)2:51.83
5[ 2] 74k B 0 2 (BRKPP-5E)3:02.59 5[ 6] 273 A 1 (LRS- 5E)2:53.20
6[ 3] 8685% [ pgowe2 (IEFET %%)3:04.96  6[ 2] 735 B A #m2 (LRATH5%)2:55.09
7070 5010 10 7 1 (RRART-8E)3:05. 71  T[ 411236% +  fx 5% 1 (W% H-%%)2:55. 81
8 6] 25045 A #i %2 (LEFH-%E)3:05.84  8[ 3] 581 K% %392 2 (Wil -5 E)2:58. 93
[ 8] 274: 50 % % 1 (LENT-4E) R O[ 71122141 8~ 4« o5 3 CRIEH-H-4E)3:00. 23
[ 9] 25663 7o 2 (LRE-5E) K15 [ 8] 2724 % gt v | (LRE®-8E) Ri5
[3#H] [4%H]
107] 752 w2 (REOAT5E)2:41.99  1[ 5] 87200 il 3z s 1 (IlBFE S -#%)2:37. 71
20 9] 33% G g ekl (LR-5E)2:44.27  2[ 2145000 v m Zs 1 (BEEM-£E)2:38. 30
30 2] 257170 T 72 (LRET-%E)2:45.12  3[ 3] 22009 H = 2 (LRFT-#%%E)2:38. 47
4[10) 2794 m' wF 41 (RRFET-55)2:46.09  4[10] 49300 5k s sz 2 (LRET-5E)2:39.95
51112015 I s g 2 (FAS-H-5%)2:46.50 5[ 4] 350K /¢ s 3 (LEMF-#E)2:40.54
60 4] 3141 %~ s 41 ES—D£5%)2:49.54  6[ 711309% 7 %t #g 2 (LRI -5E)2:42. 00
70 6] 2530 i 2 52 (ERES-5E)2:51.31  T[ 6] 75% py @ 42 (LRATT5E)2:44. 85
8[ 81123876 K Fimir 1 (BESE H4%)2:53.06  8[ 9] TR 1275 2 (FRATH 5%)2:45. 08
90 5] 313245 K a7 1 (FIET-%E)2:50.74  9[ 8] 23978 A =% = 3 (FEE-H5E)2:47. 81
10[ 3] 658%% H 1 (frzft-%%)3:05.07 [ 1] 2184 @ #i 25 3 (HES-f-5F) RiB
(5481 [64A]
10 3] 2250 {8 g2 (B -#%)2:29.92 10 11 3407 f+ 0 45 3 (EREF-$5E)2:24. 92
20 4] 41K F Zp 1 (BRP-5E)2:31.43  2[ 8] 3093 7 g w2 (WIET-#%%)2:25. 54
3[ 2] 21758 w5 # 72 (B -575)2:32.96  3[ 511316 @ (£ 2 (LRET-#7E)2:26.42
A0 9] 3047 w5 " we g1 (RRFER-%%)2:36.52 40 9113017 W = A& 2 (REAH-#%E)2:26. 45
5[ 7] 23745 w5 223 (BEE 4%)2:41.61 5[ 7] 3427w 4 o 3 (LEFM-5E)2:33. 94
6[ 6] 214 o 2 53 (LRKA-55)2:53.99 6 4] 7550k s fu %= (FRABT47%)2:39. 52
70 1] 308fi %z w42 (WIKA-HE)2:57. 44 [ 2] 7580k & 4 & (FREBT-HT) RS
8[ 8] 306/ 5 sk 2 (I T-47)3:04. 38 [ 3] 754w i %  (RRAKSHE) K15
[ 6113150 1 4% = 2 (LRAT -5E) RIS
1 3400 o 3 (LRI -#%)2:24. 92
2 3090 % g wm 2 (FfJIIEET - £ )2:25. 54
313167 1 # 7y 2 (LRH-5E)2:26. 42
4130154 | B k2 (RRAUR-HiE)2:26. 45
5 225 KAt the 2 (52 - B E)2:29. 92
6 MATF Fpl (LR 5E)2:31.43
7 275 41 72 (B B E)2:32.96

7

8 342wy w3 (LRE-#5E)2:33.94

TFHEE 1 00mHI0.762m/8. 00m] R (248)

[1#8] ( -0.5 m) (248 ( +2.3 m)
10 4] 8697 0 v we 1 (IERF-5E)19. 41 1[ 5] 1207;§’f";["|”” = 3 (EH - 5%)15. 71
20 5] 238p9 ff = % 3 CGREZ_H-57%)19. 88 20 6] 380 Hy 2 (HEZH-HE)16. 41
30 3] 8747 v m 4 1 (I T-E)20.07 30 3145471 % pE 3 (HEHET-HE)17.79
4 6] 37 @ o3 GIFEET5%)20.70 A0 4] 2864F 117 2 3 (Bloom#E)17. 85
5[ 7] 5025 & e 1 (EEASD-%%)21.59 5[ 214519)1 4" % % 2 (5HFF-5E)19. 14
60 1] 308jif % i 42 (F)IIsH-#%)22. 07 6[ 8112007 5 %, ¥ 2 (WEH T-5%)19. 24
70 2] 306/ s st sk 2 RN -45)22.17 [ 112125 W w7 2 (HEEZH-5F) KI5

vxNT TY A

[ 8] 4027 5 2 391 (Rb)Ild-5%) k5 [ 701026 )5 % #izk 2 PEET5E) KI5



INFAR

'\:L‘.\ -

11207 ’eé”’m“ 3 (P - 8E)15. 71 +2.
2 380 dan b 2 (HEZHE)16. 41 +2.
34547, % gE 3 (GEFHET-HE)1T.79 +2.
4 2868 11 = #53 (Bloom-#%E)17.85 +2.
5 45197;’[*@,’1 £ 42 (GHHP-BE)19.14 +2.
6 12005;5%#%% 2 CHAH - 55)19. 24 +2.

7 8699% 0 g we 1 (B -5 )19, 41 0.
8 2389 ft (- 23 (HEH H-£5%)19.88 -0.

TFHRFEE 4x100mR HREEQ4A)

Gl O1T W WWWwWwwWw

(1#8]
12185 —d B (12067, ’ﬁ 212008 Il Ak 2 121434’ M W2 1200% 84 *42)54. 08
20314/ JII 5 o ( 31081 1 i 222 3090 e B w2 30717512* %2 3144 [ 4c2)55. 79
3[4 F J2 3 fh( 3043 m e g 113125 10 %2-13200 W 0 ¥a2 1319 T - ar 2) 55. 87
Al6] LR AT 61 Byl 75 R IE2 63(E kK frEL 64tﬁ’ﬁfl“kuﬁl>56.17
560 F & h( 3BEA Ll 1004?71 {;”EEEZ 100501 75 & 352 25% 09 i i, 1) 56. 89
6810t Zs F " (1688FE [ 1 16874011 =352 16874 4 g2 1688@;712 % 31 1)58. 51
(71 E R M o ) R35
[248] e \
1[56]B 1 o o m( 282§E3F & 23 286Ff |1 15 3 831 1B A2 29145 2 4£2)52. 07
2[4V~ A( 219 m yfm\g 120750 i1 a3 2234 A i 223121901 Kt 59 3) 52. 31
321 F 2 7 (2548 2 257;.%”%1%2 2527 & g2 25504 k5 wi2)54.84
417 5.BF s A(4505§£” “H/\j% 452074 " 3 4k 2 4523 0 BE A 2 4515%@4 zmn 2)54. 95
5I81H M H(2636(4 3 0 452 26320 s 1 222 26394 S ”qc;gz 2640717 4 {Eﬁk2)56.29
6 (3] 5-BF i B (4517, )35 75522 45251 [ # 7 2 454675 & 34547/ kT gE3)58. 40
(618 @ = ) R 15
1B 1 o om 52.07
2 FEE A 52. 31
3 FEE B 54.08
4 B m o 54. 84
5 5B R H A 54. 95
6t JII 55.79
7FE B K 55. 87
8 L B K 56. 17

LFHRFE ESB RE
1018] 7755 i W (£ 0 (FRABP-45) mS5 K&

2[17] 242§gm£)=é O3 (S -M-%E) 1m49 REZ2A
3[16] 761 ,g,ﬁ/ 0% 0 (FRABT-5E) 1m46
4[15] 2475 i 3 (g —h%E) 1m35

5012] 762% 7 2 % 0 (FiRAES%%) 1m35

611011205 F 7 4 2 CREH-HHE) 1m35

AT EEN

T011] 756y b s 0 (FriRikh-5E) 1m30

8[ 7]1220;2’}3’3* e 3 (FEE_T-%E) 1m30

O[ 41348030 W5 2 hr 2 (FAFET-HE) 1m25
10[ 6] 40&%’ i on v 2 GIFEETSE) 1m20
11[ 9] 5773 ﬁééf{ z. 1 (Imgd-5E) 1m20
12[ 518430565 1 gm 1 (FAES-%E) 1m1b
13[ 31120300 @ & An 2 GHEE_H-HE) 1ml5
141 2] 34802%{” w1 (FEET-5E) 1m0

[ 1145243 55 % 2 (GHFF-5E) 08R4 L

[ 8] 362;%{7% 7 j“ %3 (ME=F-HE) RI5



4% 73

[13] 1025@'3%#%/: 32 2 BFEET-HE) RIG
(14110095 -\ #Hx2 (FRP-BE) RS

ZFHFE ERBE KRB

F YU v

1041126168 i1 (HEH-5HE) 4m89 -0.

2[ 5] 303~ m %3 (RIHT-HE) 4m78 +0.

avsy 7317

3[44] 3811 A Zx2 @E=HE) 4mT1 +0,
4137) 85303 " 4 w2 (IIWET HE) 4md3 +0.

51214523 17 7 p 2 (S AP-4E) 4m35 1.
6[19] 29 11 %3 GIFEEDHE) 4m17 0.

BT LA

T[3911204)11 w5~ #k 3¢ 2 (HEE -5E) 4ml4 +1.
8[22] 6110 B & 1 (LEKTH-5E) 4m06 +0,
90401 6411 NIl " fE 1 (LEATH-5E) 3m99 +0.
100 2] 270mth #im& 3 GIFEEHHE) 3m97 -0,
11029013128 1" %2 (REFET-5%E) 3m96 +0.
12 (27112056 F i 46 2 (FEE_$HE) 3m92 +0.
13[46] 8765 5 #» s 1 (IEFES HE) 3m91 +0.
14[35] 2118 W 43 (FEE-HH5E) 3m9 +0.
15[14] 757 &~ 7  GRRABT%E) 3m89 +0.
16[18] 203%: i " g # 3 (HEH-H-%E) 3m85 +0.
17[26] 5843 A& U » 2 (BT -5 E) 3m84 +1.
181101 312="/"" 4 % 1 (F)IFT-HE) 3m83 -0.
19030] 3074k » A& i 2 (FEJIFT-5E) 3m79 +0,
20[13] 23 m ¥ wel (BR%-BE) 3m75 -0.
210 7] 752/\85 % 4y (FRAKS-HE) 3m71 0.
22[16] 3087 3 s 46 1 (LEET-HE) 3m69 0.0

AHT VA

23[11]) 301 7 {- & sz 1 (ERHEH-#HE) 3m68 +0.1

O O JIMNOJWOoOH T —00ONWI—WoOoOo 01 d —

24133126397 JF F % 2 (AT -HE) 3mb9 +0.4
25[ 6] 2241 F " v 73 (FEE-T-4%E) 3m56 +0.5

A8 AT

26(38] 206y f Ay 3 (A &%) 3md5 -0.
27[25]4521 1 7 "t 2 (HHEH-HE) 3mb3 +0.

28[24] 3175 )& gE e 1 (RRF-HE) 3m49 0.

2017112014 /Il = g 2 CHAEF -5%) 3m36 -O0.
30[31] 45232 7% (FREWT-4E) 3m33 0.

31034] 4317 mW" & 63 (FRES-HE) 3m33 -0.
TEs 2%

32[45] 24% m fE gl (REF-%E) 3m30 -O0.
33[15] 875 #f i g 1 (IS -5E) 3m26 0.

34[ 1] 586 3 g 2 (BWH-#E) 3m18 0.
350 4110104 1 = g2 (ERJ-#E) 2m76 +0.
36[43] 40185 w5 vb 1 (W)Id-%E) 2m72 +0.
37[20] 31327 K a7 1 (RIFT-HE) 2m50 0.0

TRy R

[ 3] 2037 ¥~ g 33 (I 5 %) Ri5
[ 8110345 m i g 1 (LEMIED-5E) KR35
[ 9] 3619650 s 5 3 (FE=M-HE) )RS

Aor~F ers

[21] 49247 O 7p 7= 2 (LRFT-4E) &5
237110074 " B2 (ERT-5BE) RS

(28] 202511 7 72 1 (LR -55) %45

[32] 384k % Jm 42 (ME=H-HE) R
[36] 365[1 A i 1t 3 (HIE=H-%%) R

T Ak

[42] 873 s e 7 1 (AT %E) KRB

TFHRFE FARI[2. 121kg] REs

1[0 91451505111 %o v 2 (BEHFRT-HE) 8m1
2[ 514518% + #i 2 2 (GEHH-%E) Tm58
30 6)45205 1 4 g2 (BEAR-HE) Tm37

40 411213 % | o % 2 (FEE_f-4E) 6m6d

GO IO = — WO oo



5[ 3112325 M~ 4% g 1 (FES-4-5E) 6mb5
ATNE Vah

60 11 2004 i "t & 3 HEE %) 6m30
[ 2] 27457850 " s w1 (RRED-HE) RIS

D% ik

[248]) ( M:O:.J m)

[ 7] 395k (4 3 FHET HE) Ri5

[8] 31 W w3 GFEET5T) RIS
ZTFINFEE 100m FEGHEHIALL—R)
(41 (21 m)
1[0 5110011 5 & 2 72 6 (bEV2=75%)15.18

20 6110015 Jst = & 6 (LEV2=74%)15.55
30 21100185 ¥ 15 7 6 (LEVa=T-HE)15. 61
AL 3110065 3+ g 5 (LEV==7-%%)16. 14
50 11100124~ e 16 (EEVa2=75%)16.15
6[ 8] 37014%}/*%: #1 % 4 (Rl 5%%) 16. 28
70 7110016 W 366 (hEVa=74%)16.38

[ 4187009% % v A 5 CRETiED-HE) Ri5

[3#8] ¢  -0.1 m)

10 51810075 % % % = 5 CHIEMilES %) 14.77
2[ 41100025 1 i 22 6 (FEV2=75%)14.83
3[ 6110013F8 5k 7272 7. 6 (FEV2=7 %%)15. 11
AL 813008975 f5 9z g 6 (LbZIFL#E)15.70
5[ 71100175 i gy 26 (LEV=2=747%)15.92
60 213700546 10 4 6 (HETER-4E)16. 25
7( 3]10020;%&:7%%;72 5 (bEVaz7%%)16. 27

[ 11300905z 77 B3 A A 6 (LD 2L 5E) Rify
(5481 (0.6

m)
1[ 611002658 7 2 43 5 (bEV=2=7%%)15.73
2[ 51310104 5 By 225 (HEmilER-%%)15. 77
3[ 71300877 i we s 6 (LbIIFE5%)16.53
41 21310120 1% 7 = & 4 CHETlEH-#%)16. 87

A Ty

5L 4110031415 %« 8 4 (ERYV2=75E)17.33
P e ma (RYas7 48 RIS
g 38 5 (LRV2=7 5% RiB

YA 2R

[ 811002544 Jf

iR 5
( +0.2 / m)
10 5100034 4 2 42 6 (FRV2=7 -%E)14.24

20 613100753 4 4 = 5 (Hilifiieth-4%) 14. 66
3[ 8110011 4x & 2 72 6 (LEV2=7-%%)14.70

=T

gm0 26 (FRVaz75%)14.77
6 11100182 i
Ay wF

41 411001358 % 7272 22 6 (LRY2=75F) 14,73
5[ 3110002 &

@i gy 6 (FEVa=7#5)15.17
70 713700478 30 o4 6 CHIEHE-%%)15. 39
8[ 271000175 5 2 7 6 (LEV2=7%%)15. 42

q
q

q
q
q

10 511000358 # 2= w2 6 (LEV2=7-%E)14. 68
20 4137004/ Fn s 6 (HIEHER-45E) 15. 50
30 711000175 i~ 2 # 6 (LEV2=7-%%)15.53
41 3730096 =4 7 46 (LbIiFL-#%)15.99
5[ 2137003 )11 At 6 (HEHES5%) 16. 30

6[ 6]10033 A m  we 7 4 (LEV2=75%)16. 31

70 811003814 1 & g 4 (LRV2=7-5%)17.27

[ 11300957 Jt~ 5 6 (LhZIEL -5E) ki
[448] ( —04 m)
10 5)81011 2 11 s e 5 (R 55) 16. 45
20 613009811 i~ By A 6 (LbZIFL-#E)16. 73

vV X T

3[ 3]1002%kx A i zs5 (EEV2=7-55)17.20

47 771003488 & s 46 5 (FRY2=7-5%)17. 24

5[ 411003075 i 7 £ g 4 (FRV2=7-%E)17. 86

60 8110029F8 Jit i 5 5 (ERVa=T-5%)17.97
[ 211003785 A 0 35 (FRV2=7 5F) RiB

[648]) ( 2.3 m)
10 511001954 8 g & 5 (LEV2=7-4%)16.20

20 31100245 f&" 2 w5 (FEV2=7#%)16.20

30 611002878 A& w5 (FRy2=7-%%)16. 74

AT 7110077 80" 7 99 5 (FEVa2=7-5%)17.02
5[ 111002107 & 4 A 5 (LEV==7%%)18. 41
6 81370155 p 5 4t 4 (LR #4E) 18. 42
me 4 (Rl 5% %) 18. 44

70 213101650 )i
[ 4110028% /" % % 5 (LEV2=7 HE) KI5

o



TFINEE 80 0m R (2%H)

(1#8] (2#8]

VA T ZAYT &/

102730096 =S¢ 7 42 6 (LI -#5)2:50.39 1[0 111001855 1 gy 7 6 (LEVa=7-4E)2:42.09
2[ 61500059 Hi{ 5 76 (TCA-#%)3:01.88  2[ 31100167 & 356 (LEV2=7-%%)2:49. 24

2N

3[ 51500001~ = . 755 (TCA-#%)3:06.28 30107130089 % F& 9z s 6 (LbZlEe #%)2:53.33

AL 415000458 " s H 6 (TCA-#E)3:17.91  4[ 515000145 1 = %26 (TCA-#%)2:57.30

5[ 8150006111 [ #i 46 (TCA-#%)3:19.42 5[ 71310112 |1 & # 5 (HEtilfh#5%)2:58. 14

6 31500038 %" gy %6 (TCA-#E)3:25.73  6[ 6130067 =47 & & 4 (LhZlfL-#E)2:58. 44

70 915000842 jE 2= 46 (TCA-#%)3:30.53  7[ 81310104 47 2 % 5 (il %%)3:08. 48

8[ 7150015 1 4t 4 (TCA-%%)3:38.06  8[ 41310145 i #i % 4 (Ffilkf 4%)3:13. 22

9[1015001445 7% %7 4 (TCA-BE)3:49.97 9 913101554 pg o 4k 4 (WIERiEH %) 3:20. 24
[ 11500137 3 #i4& 4 (T C A-#5%) X35 100121 31016%1° )il we 4 (il 4%)3:32. 87
(111500165 | fn 46 4 (T C A-EE) KI5 TLI1] 310120 % 7 = & 4 CHIETiE-#F) 3:41.17

[ 2137000% 1 v B 5 (HEMER 5F) KI5

0> N

ey

1100187 7 B 7w 6 (LRY2=7 #%)2:42.09

210016 41 w5 3£6 (LRV2=7-5%%)2:49.24

330096 = JF 7 46 (LD ZIEL-5%)2:50. 39

430089 &5 f6 92 6 (LT HiE)2:53.33

5500074 il 4 %6 (T C A -5 £)2:57.30
6370117 1l i 5 CHiIEMiER)-Hi%)2:58. 14
730067 =77 & 54 (LH I 5%)2:58. 44

850005 %% 11 5 46 (T C A -HiE)3:01.88

TFINEE 4Xx100mR R

o~ o~ o~ —

12l ERYa=7 AC1001470 3 48 26 100034 3£ 26 26 10011FR & 25 72 6- 1001076 A £ 1£7-6)55. 71
300785 % 11 e/ 5 30082 A Az 6730092% A& #£6°30096  Ff 7 46)59. 33

4[5)ERVa=7 BI0035E 39 £ 5 10013f4 7k 27026 1000175 k20 76 100025 1 0y 226)59. 79

5 [61Hi/E ikt B Y I W0

6[71L 5 2L B(300980 i B 5% 6300892 k5 2 6300877 Ji i sk 6300805 0 2 15 6) 1:03. 32
[—] = o .-

TFINFEE EESEE RIS

2[ 5110003%E S 2 4% 6 (FEV2=7-%F) 1m24

: i )
2 (414 TR A (37009% E v& B 5370014 3F ¢ ¢ = 5 31004/ 3" Fn 46310011 Hi % #16)59. 01
3[3JLbZiEE A e )
1 < b r )
3101045 7 22531014545 ik #1154 31003541 A iase6- 3100548 1 4£6)1:03.10

B Iy A 2 )
10 7131001 17 4 4 %7 6 CHEMEG-%E) 1m27
3[ 4130025 A& 6 (LHIHLHE) 1ml0

A0 201001348 K 72 7 6 (LRV2=75%) 1m10
5[ 1130080% Fi 2 g 6 (LbZIEL-%E) 1mOO

[ 31300957 5" 3 i 6 (LbIiHL-4i%) k5

[ 6]30090v77; B B & 6 (LHZHL %) RiF

ZFINFE ERBE RE

10 8110010 A& % 7 6 (ERV2=T-H%) 4m28 +1.

2011137001 (1) #r 4k #76 CHIEMRES-%E) 4m26 +1.
3[13110004 5 i 26 (LEV==75%) 4m21 +0.
41 21310041 " Fn 45 6 CIREHEG-5E) 3m8d +1.
5[ 11100028 'm0 3 6 (bBV2=74E) 3m74 +0.
6(14110015% = = & 6 (EEVa2=7-%%) 3m73 1.
70 51310033 )11 & #a kL 6 CREER-5E) 3mT1 +1.
8 41371005¢6 1 4% 6 CHiilEH-%E) 3m53 +0.
9[12]30082 T4k AkZs 6 (LHZIEE-5E) 3mdT +0.
100 3110035 3t g 5 (bBV2=7-5%) 3md5 -0,
110 91300877 & “we sk 6 (LHZEL-5%) 3m34 +1.
1201011002085 & A #ise 5 (bEV==7-%%) 3m27 -0

v e/

13[ 61300782~ [ fidg /s 5 (LbZiEe%%E) 3m10 -0.

SO PP OCITOINI0OO~OoOO —



L I

141 7130080 /1 2 p 6 (LHTIEE-HE) 2m65 +1. 1

TFINFE Dv Ry R—)Li[$9140g] R

ZZEN IA2

10 1110010/ A& =+ 6 (FEY2=7-%%) 35m61 KEH
20 3110014 /0 3 4 % 6 (FRV2=7-%%)32m61 K&

3L 4130078 iy 5 (L& ZH L -HE) 19m62

4[ 2130098 11 iy B 3% 6 (LHZIEE-5E)18m48



